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Read the following instructions carefully before you begi questions.
Q) This booklet contains 160 questions in all comprising the following four parts.

Part-(I) : Hindi Language (40 Questions)
Part-(Il) : Law/ Constitution & General Knowledge (40 Questions)
Part-(lll) : Mathematics (40 Questions)
Part-(VI) : Mental Aptitude Test (40 Questions)

2) All the questions are compulsory and carry equal marks.

3) Before you start to attempt the questions, you must explore this booklet and ensure that it contains all the pages and find that no
page is missing or replaced. If you find any flaw in this booklet, you must get it replaced immediately.

4) There is no negative marking.

(5) You will be supplied the Answer-sheet separately by the invigilator. You must complete the details of Name, Roll number, Test
name/ld and name of the examination on the Answer-Sheet carefully before you actually start attempting the questions. You
must also put your signature on the Answer-Sheet at the prescribed place. These instructions must be fully complied with, failing
which, your Answer-Sheet will not be evaluated and you will be awarded ‘ZERO’ mark.

(6) Answer must be shown by completely blackening the corresponding circles on the Answer-Sheet against the relevant question
number by pencil or Black/Blue ball pen only.

) A machine will read the coded information in the OMR Answer-Sheet. In case the information is incompletely/ different from the
information given in the application form, the candidature of such candidate will be treated as cancelled.

(8) The Answer-Sheet must be handed over to the Invigilator before you leave the Examination Hall.

9) Failure to comply with any of the above Instructions will make a candidate liable to such action/penalty as may be deemed fit.

(10) Answer the questions as quickly and as carefully as you can. Some questions may be difficult and others easy. Do not spend
too much time on any question.

(11) Mobile phones and wireless communication device are completely banned in the examination halls/rooms. Candidates are
advised not to keep mobile phones/any other wireless communication devices with them even switching it off, in their own
interest. Failing to comply with this provision will be considered as using unfair means in the examination and action will be
taken against them including cancellation of their candidature.

(12) No rough work is to be done on the Answer-Sheet.

(13) No candidate can leave the examination hall before completion of the exam.

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO
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Law/ Constitution & General Knowledge
41. Sound and light waves both

(A) have similar wavelength

(B) have properties of wavelength
(C) Travel as longitudinal waves
(D) Travel through vacuum

42. What is the full meaning of NRC?
(A) National Registration of Citizenship
(B) National Register of Citizens
(C) National Records of Citizens
(D) None of these

43. In case of Delhi, Chief Minister is appointed by-
(A) Lieutenant Governor
(B) President of India
(C) Council of Ministers of Delhi
(D) None of the above

44, Under IPC, Criminal Conspiracy is covered in
(A) Section 115 (B) Section 120
(C) Section 120A (D) Section 121
45, Which Constitutional Amendment bifurcated the

Combined National Commission for Scheduled
Castes and Scheduled Tribes into two separate

bodies?
(A) 42"¢ Amendment (B) 44" Amendment
(C) 89" Amendment (D) 939 Amendment
46. The idea of non-cooperation movement during

freedom struggle did not envisage:
(A) the boycott of civil services.
(B) the boycott of foreign goods.
(C) popular violence

(D) the surrender of British titles.

47. Who among the following is appointed as the new
finance secretary?
(A) TV Somanathan
(B) Ajay Sinha
(C) Ajay Bhushan Pandey
(D) Ravindra Jain

48. Which among the following is not among the other
directives (directives other than Directive Principle in
Part 4)?
(A) Article 335 (B) Article 350-A
(C) Article 338 (D) Article 351
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The genetic material of a body is constituted in DNA.
Where is this DNA found in a human cell?

(A) Ribosomes (B) Cell Membrane

(C) Nucleus (D) Cytoplasm

Which of the following cases is related to Centre-
State Relation?

(A) SR Bommai case
(C) Lily Thomas case

(B) I.R. Coelho case
(D) Shreya Singal case

An aquarium is

(A) a artificial biome

(B) a artificial biosphere
(C) an artificial ecosystem
(D) an natural ecosystem

Low salinity in equatorial regions is due to :
(A) daily rainfall

(B) high relative humidity & cloudy sky

(C) Doldrums

(D) All of the above

Parliament session begins with

(A) a meeting between the President, the Council of
Ministers and the Leader of the Opposition

(B) an address from the Speaker of the Lok Sabha
(C) President's Joint Addresses in both Houses

(D) swearing-in by all new members of Parliament

The Money Bill is defined in which Article of the
Constitution of India?
(A) Article 109
(C) Article 111

(B) Article 110
(D) Article 112

Match List | with List Il and select the correct answer
by using the codes given below the lists:

List 1

A) 04 February

C) 30 January

List 2

1) World Pulses Day
3) World Cancer Day
Codes:

(A) A-1 B-2 C-4 D-3
(C) A-1B-2C-3D-4

B) 10 February
D) 28 February

2) National Science Day
4) World Leprosy Day

(B) A-3B-1C-4 D-2
(D) A-3B-1C-2 D-4

The highest airport in India is
(A) Dharamshala airport

(B) Pithoragrah airport

(C) Leh airport

(D) Dehradun airport

Which of the following Governor Generals of India
has been regarded as the maker of modern India?

(A) Lord William Bentinck

(B) The Earl of Dalhousie

(C) Henry Harding

(D) The Lord Auckland

Which of the following is a non-constitutional body in
India?

(A) National commission for Scheduled castes

(B) National commission for Scheduled Tribes

(C) National Human Rights Commission

(D) Election Commission

Which Schedule of Indian Constitution contains the
provisions on Panchayat Raj Institutions?

(A) Tenth Schedule (B) Eleventh Schedule

(C) Ninth Schedule (D) Twelfth Schedule

A vitamin requires cobalt for its activity. The vitamin is
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(A) Vitamin B12
(C) Vitamin B2

(B) Vitamin D
(D) Vitamin A

Match List 1 with List 2 and mark the correct answer
from the given code.

List1

A) Australian Open 2021 (Men's Singles)

B) French Open 2020 (Men's Singles)

C) Australian Open 2021 (Women's Singles)

D) US Open 2020 (Men's Singles)

List 2

1) Novak Djokovic (Serbia)

2) Naomi Osaka (Japan)

3) Rafael Nadal (Spain)

4) Dominic Thiem (Australia)

Codes:

(A) A-1B-2C-4D-3
(C)A-1B-2C-3D-4

(B) A-3 B-1 C-4 D-2
(D) A-3 B-1 C-2 D-4

Which of the following has launched the first-of-its-
kind Online Dispute resolution (ODR) handbook in
India on April 9, 2021?

(A) Reserve Bank of India

(B) CBDT

(C) NITI Aayog

(D) Ministry of Home Affairs

Which planet has largest planetary magnetosphere in
the solar system?
(A) Earth
(C) Mars

(B) Jupiter
(D) Neptune

Who has become the first Indian Woman to get 2021
Wild Innovator Award’?
(A) Sunita Narain

(C) Maneka Gandhi

(B) Dr Krithi K Karanth
(D) Medha Patkar

‘Halwa Ceremony’ is related to which event in the
Indian Parliament?

(A) New session of Parliament

(B) Joint session of Parliament

(C) Printing of budget documents

(D) All of the above

In India, which two Indian states are connected with
“National Waterway 5”7

(A) Karnataka and Kerala

(B) Odisha and West Bengal

(C) Andhra Pradesh and Telangana

(D) Haryana and Himachal Pradesh

Who can confer additional functions to the Union
Public Service Commission?

(A) The President of India (B) The Chairman, UPSC
(C) The Parliament (D) The Prime Minister

Who has been appointed as the new Director General
of the Border Roads Organisation (BRO)?

(A) Rajesh Ranjan (B) Rajeev Chaudhary

(C) Uday Banerjee (D) Ravish Shukla

Which of the following international organizations has
released its latest report on “South Asia Economic
Focus™?

(A) International Mutual Fund

(B) Asian Development Bank

(C) European Bank for Reconstruction and
Development

(D) World Bank

Fundamental Rights can be suspended during an
emergency by:
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(A) Governor
(C) Supreme Court

(B) High Court
(D) President

Lord Cornwallis is known for

(A) permanent revenue settlement of Bengal
(B) attacking the caste system

(C) land revenue settlement of United States
(D) ryotwari settlement of Madras

The 19" edition of the Indian and French Navy
bilateral exercise VARUNA-2021 carried out in
the

(A) Caspian Sea

(C) South China Sea

(B) Arabian Sea
(D) Andaman Sea

Who administers the Oath to the Governor?
(A) President

(B) Chief Minister

(C) Chief Justice of High Court

(D) Outgoing Governor of the state

Which soil has high pH?
(A) Black Soils
(C) Laterite Soils

(B) Arid Soils
(D) Saline Soils

The Environment Protection Act of 1986, came into
force soon after which of the following disasters in
India?

(A) Bhopal Gas Tragedy

(B) Oleum Gas Leak

(C) Chernobyl Disaster

(D) Oil and gas leak in Assam

Which one of the following is not related to centre-
state relations?

(A) Sarkaria Commission

(B) Rajmannar Commission

(C) Puncchi Commission

(D) Kasturirangan Committee

Which type of Citizenship is provided by the
Constitution of India?
(A) Single citizenship
(C) Dual citizenship

(B) Regional citizenship
(D) Temporary citizenship

Who among the following scaled for Mount Everest
25th time in May 20217
(A) Kami Rita

(C) Shivangi Pathak

(B) Keval Kakka
(D) Anshu Jamsenpa

How many Parts, Articles and Schedules were there
in the original Indian Constitution?

(A) 22 Parts, 395 Articles and 8 Schedules

(B) 24 Parts, 450 Articles and 12 Schedules

(C) 22 Parts, 390 Articles and 8 Schedules

(D) 24 Parts, 425 Articles and 12 Schedules

Which one of the following Buddhist text mentions the
16 Mahajanapadas?
(A) Sutta Pitaka
(C) Khandhaka

Mathematics

One third of a certain journey is covered at the speed
of 80 km/hr, one fourth of the journey at the speed of
50 km/hr and the rest at the speed of 100 km/hr.
What will be the average speed (in Km/hr) for the
whole journey?

(A) 75 (B) 67

(C) 66.66 (D) 76.66

(B) Angutara Nikaya
(D) Abhidhamma Pitaka
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(A) 2/3 (B) 1
(C) 4/3 (D) 3/4

The HCF and LCM of two numbers are 84 and 21
respectively. If the ratio of the two numbers is 1 : 4.
Then the larger of two numbers is :

(A) 12 (B) 48

(C) 84 (D) 108

A sum of money is paid back in two annual
instalments of Rs. 17, 640 each, allowing 5%
compound interest compounded annually. The. sum
borrowed was how much?
(A) Rs. 32,800
(C) Rs. 32,000

(B) Rs. 32.200
(D) Rs. 32,400

If 60% of (x - y) = 45% (x +y) and y = k% of x, then
21% of k is equal to:

(A)7 (B)1

€6 (D)3

The value of 9 x 6 +24 + 8 -2 of 5— 30 + 4 of 4 + 27
x5+9is:
(A) 647/40
(C) 259/8

(B) 493/8
(D) 243/8

There are 14 male employees and 12 female
employees in a department of an organization. In how
many ways can a male and a female employee be
chosen from the department to represent the
department in the employees union meeting?

(A) 168 (B) 120

(C) 145 (D) 180

If A's income is 60% less than B's income, then B's
income is what percentage more than that of A's
income?
(A) 80%
(C) 150%

(B) 120%
(D) 40%

In a class of 30 students, 16 like football and 18 like
volley ball, how many students like both sports?

(A) 4 (B) 6

©)8 (D)3

A person sold a book for Rs 21 and got a loss
percentage which was numerically equal to the cost
price. What is the cost price (in Rs) of the book?

(A) 30

(B) 70

(C) Both 30 and 70

(D) connect be determined

A trader marks his goods at 60% above the cost price
and allows a discount of 25%. What is his gain

percent?
(A) 30% (B) 20%
(C) 25% (D) 40%

A jar contains a mixture of two liquids A and B in the
ratio 4 : 1. When 10 litre of the mixture is replaced
with liquid B, the ratio becomes 2 : 3. The volume of
liquid A present in the jar earlier was:
(A) 20 litre (B) 10 litre
(C) 16 litre (D) 15 litre

The average marks in Math, Science and English is
72. The average marks in Science, English and
History is 64. If the marks in History is 56, what is the
marks in Math?
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(A) 78 (B) 88
(C) 80 (D) 91
The speed of the car increases by 2 km/hr every 106.

hour. If the total distance travelled in 8 hours is 728
km, what was the initial speed of the car?

(A) 84 km/hr (B) 72 km/hr

(C) 96 km/hr (D) 80 km/hr

107.
If 2A = 3B =5C, then whatis A: B: C?
(A)2:3:5 (B)5:3:2
(C)6:10:15 (D)15:10:6
The ratio of two numbers is 7 : 13 and their HCF is 8.
Their LCM is
(A) 628 (B) 782
(C) 872 (D) 728
Rama and Ravi can complete a work in 24 days.
They work for 15 days and after that Rama leaves.
Ravi completes the remaining work in 16 days. In how
many days, Ravi can complete the whole work alone?
(A) 120/3 days (B) 124/3 days
(C) 126/3 days (D) 128/3 days 108.
A’s 2 days work is equal to the B’s work of 3 days. If
A can complete the whole work in 10 days then to
complete the work, B will take:
(A) 14 days (B) 15 days 109
(C) 12 days (D) 16 days '
If the cost price of 16 articles is equal to the selling
price of 12 articles and the discount on 12 articles is
equal to the profit on 6 articles. What is the 110
percentage point difference between the profit '
percentage and discount percentage?
(A) 22.22% (B) 11.11%
(C) 33.33% (D) None of these
A person saves 25% of his income. His income
increases by 20% and still he saves the same amount
as before, the percentage increase in his expenditure 111
is__ '
(A) 25§ (B) 24
(C) 25 (D) 26%
112.
1 . .
The value of Nerwe is closest to:
(A)1.2 B)4.1
(©) 4.2 (D) 3.7 113,
Two numbers are in the ratio 4:5. If their HCF is 16,
then the sum of these two numbers is:
(A) 144 (B) 124
(C) 160 (D) 150
Ms. Revathi borrowed Rs. 600 at 6% per annum 114.
simple interest. What amount (in rupees) will she pay
to clear her debt after 4 years?
(A) 700 (B) 150
(C) 744 (D) 144
The probability that A can solve the problem is 3/5
and B can solve it is 2/3. If both of them attempt the 115.

problem, then what is the probability that the problem
gets solved?
(A) 11/15
(C) 2/5

(B) 3/5
(D) 13/15

(A) 660
(C) 550

(B) 525
(D) 575

If three unbiased coins are tossed simultaneously,
then what is the probability of exactly two heads?

(A) 3/19 (B) 8/13

(C) 4/17 (D) 3/18

Let, A={1,2 3,4,5 6}andB=1{1, 3,5, 7,9, 11}.
Then find the set which represents the shaded portion
in the figure given below?

. V45-v54
Find tlhe value of v :
(A) 13 (B)13
©)1 (D) 15

4

A single discount equivalent to three successive
discounts of 8%, 15%, and 12% is:

(A) 17.5% (B) 68.816%

(C) 35% (D) 31.184 %

Small spherical balls of radius 0.7cm are dropped into
a cylindrical container of diameter 7cm, which
contains some water. Find the number of spherical
balls that should be dropped in to the container, so
that water level rises by 5.6 cm.

(A) 130 (B) 240

(C) 150 (D) 250

X+ 7 +. 5 . X+
22 =ZandZZ =2 findZ2 2
z 2 X 4 y

(A)-1 (B)5
(€)3 (D) 2
Ifa+al=5thenad+a3dis:

(A) 80 (B) 110
(C) 10 (D) 140

The average of 50 results was calculated as 30 but
later it was found that while calculating, 73 was taken
as 33 by mistake, then what will be the correct

average?
(A)29.2 (B) 30.8
(C)31.6 (D) 34

If A’s income is 40% of B’s income and B’s income is
24% more than C’s income, then by what percentage
is C’s income more than A’s income? (Your answer
should be correct to one decimal place.)

(A) 104.2 (B) 75.6

(C)101.6 (D) 50.4

The sum of the internal angles of a regular polygon is
1620°. What is the number of sides of the polygon?
(A) 12 (B)9

(C)10 (D) 11

Direction (116-118): The below-given pie-Chart shows the

If x +y+ 2z =10 and xy + yz + zx = 15, then find the
value of x3 + y3 + 73 — 3xyz.

6 | Page

percentage distribution of players of SAIl stadium
Lucknow(Total 300 players in different games).
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Number of Players 124. If the day before yesterday was Friday, what day will
two days after the day after tomorrow be?
, Golf (A) Saturday (B) Thursday
o 8 (C) Friday (D) Sunday
Basketball 9 125.  Kavya's birthday is on Tuesday 4th July. On what day
m Cricket of the week will be Anika's Birthday in the same year,
if Anika was born on 15th August?
(A) Wednesday (B) Friday
(C) Saturday (D) Tuesday
23 17 126. Which answer figure will complete the pattern in the
question figure?
Tennis Hockey
21 2
Football
116. Find the Difference between the Cricket and
Basketball players?
(A) 38 (B) 39
(C) 42 (D) 36
117. Find the ratio of Hockey & Football players with the
Golf & Tennis players, if 21 players of Hockey is
added into academy and 9 Tennis players left the
Stadium.
(A) 45:28 (B) 28:45 (A) - (B)
(C) 81:67 (D) 84:133
118. Find the Difference of Basketball and tennis players, if A
36 basketball players added in the SAI Stadium?
(A) 8 Players (B) 9 Players
(C) 6 Players (D) 7 Players © (D)
119.  What is the compound interest on 5000 in 2 years at 127.  In the following question, select the missing number
the rate of 20% per annum? (interest compounded from the given alternatives.
half yearly)
(A) 2340.50 (B) 2275.50
(C) 2290.50 (D) 2320.50
120. In AACE, B and D are the point on side AC and CE, ‘ h
respectively, such that BD
BD || AE and AE = gBD. What is the ratio of the area q v
of ABDC to that of AAEC?
(A)3:8 (B)8:11
(C)9:64 (D)9:16
Mental Aptitude Test (A) 216 (B) 125
. . . . (C) 36 (D) 343
121. Select the option that is related to the third term in the
same way as the second term is related to the first 128.  A'is B's wife’s husband's brother. C and D are sisters
term. o ) _ of B. How is A related to C?
House : Kitchen :: Plant : ? (A) Brother (B) Sister-in-law
(A) Roots (B) Leaves (C) Wife (D) Sister
(C) Flower (D) Stigma
. 129. Read the given statements and conclusions carefully.
122. Five phones, H, M, R, T ar_1d V are kept one above Assuming that the information given in the statements
the other not necessarily in the same order. The is true, even if it appears to be at variance with
number of phones above T is the same as the commonly known facts, decide which of the given
number of phones below V. R is just above H. V is at conclusions logically follow(s) from the statements.
the bottom. There are two phones between M and V. Statements:
Which of the following phones are above R? 1. Some students are listeners
(A)Mand T (B)Rand | 2. Some listeners are observers.
(©)MandV (D)Mand H 3. Many students are not observers.
. ) . Conclusions:
123. A+B means A is the sister of B. A~B means A is the I. Some students are observers.
brother of B. AXB means A is the father of B. A +B Il. Some observers are not students.
means A is the mother of B. Which of the following lIl. Some observers are listeners.
expression represents P is sister of Q? (A) Only conclusions | and 11 follow
(A) P R=Q (B) PxR=Q (B) Only conclusion Il follows
(C) P+R £Q (D) P+R+Q (C) Only conclusion | follows
Fb:- 7 | Page Web :-
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130.

131.

132.

133.

134.

135.

Fb:-

(D) Only conclusion Il follows

Which letter will replace the question mark (?) in the
following series?

G ILFK?,0,B

(A)D (B)N

©T (D)L

A series is given with one term missing. Select the
correct alternative from the given ones that will
complete the series.

15, 35, 63, ?, 143, 195

(A) 99 B) 77

(C) 85 (D) 98

Direction: In the following question, a statement is
given followed by two courses of action. Assuming
everything given in the statement is true, decide
which of the option logically worth pursuing.
Statement:

During a flight, the pilot found that one of the engines
of the airplane is not working.

Courses of action:

I. The pilot should try to land in the nearest airport as
soon as possible and follow the instruction from air
traffic control.

Il. Crashland immediately and do not wait for any
instructions as it will waste time.

(A) Only I follows

(B) Only 1l follows

(C) Both | and Il follows

(D) Neither I nor Il follows

Study the given pattern carefully and select the
number that can replace the question mark (?) in it.

(A) 82 (B) 96
(C) 74 (D) 64

You are given a question and two statements. Identify
which of the statements is/are necessary/sufficient to
answer the question.

Ratan is 2 years older than Imran who is twice as old
as Nadeem. What is the present age of Imran?
Statements:

1) The total of the ages of Ratan, Imran and Nadeem
is 27.

2) Ratan is older than Nadeem.

(A) Statement 2 alone is sufficient

(B) Statement 1 and 2 together are necessary

(C) Statement 1 alone is sufficient

(D) Statement 1 and 2 are not sufficient to solve

A question and two statements labeled (1), (ll) are
given. You have to decide which statement(S) us/are
sufficient to answer the question.

What is Guna’s age?

I. Guna, Vinay and Keshav are all of the same age.

Il. Sum of ages of Vinay, Keshav and Arjun is 32; also
Arjun is as old as Vinay and Keshav together.

(A) Statement Il alone is sufficient.

(B) Both the statements together are needed

(C) Either I or Il alone are sufficient.

136.

137.

138.

139.

140.
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(D) Statement | alone is sufficient.

If in a certain way ROCKET is coded as XLIGVP,
then how MOBILE will be coded in the same manner?

(A) YLNVLR (B) YLNVOR
(C) YLNUOR (D) YLMVOR
Select the option in which Figure-X is
embedded(Rotation is not allowed).
| agiine &
e ——
= ‘
1
(A) (B)
i i 1
| m—
© (D)

In a certain code language ‘PSYCHOANALYSE’ is
written as ‘! @

#$%N&*&<# @ >'. How will ‘CANALS’ be written in
that code?
(A) $&*&< @
(C) $&*&# @

(B) #%*%< @
(D) @ #°&"%

Which answer figure will complete the pattern in the
question figure?
Question Figure :

Answer Figure :

(1) () 3 (4)

(A) Fig.(1) (B) Fig.(2)
(C) Fig.(3) (D) Fig.(4)

The sequence of holding a piece of paper and the
manner in which the folded paper has been cut is
shown in the following figures. How would this paper
look when unfolded?

Question figure:

-
]
[
[
1
L]

ol

(A) (B)
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Direction (141-143): A word and number arrangement

141.

142.

143.

144.

145.

146.

Fb:-

machine when given an input line of words and
numbers rearranges them following a patrticular rule in
each step. The following is an illustration of input and
rearrangement.

Input: ponb mesr 30 58 78 46 wsdr cknh
Step I xtes 157 ponb mesr 30 58 46 cknh
Step Il: gpoc 117 xtes 157 mesr 30 46 cknh
Step lll: nfts 93 gpoc 117 xtes 157 30 cknh
Step IV:dloi 61 nfts 93 gpoc 117 xtes 157
Step \ is the last step.
Answer the following questions based on the
following input: -

Input: bvgr ktwqg 64 96 18 36 11 rexv cgby asdf

What will be the last step of the given input?

(A) dhcz 73 luxr 129 bteg 23 cwhs 37 sfyw 193
(B) bteg 23 cwhs 37 dhcz 73 luxr 129 sfyw 193
(C) luxr 129 sfyw 193 bvgr 18 36 11 cgby asdf
(D) cwhs 37 dhcz 73 luxr 129 sfyw 193 11 asdf

Which of the following word/number will be second to
the left of fifth from the left end in step IV?

(A) 11 (B) asdf

(C)73 (D) dhcz

What will be the difference of biggest number of step
Il and second number from the left end of step V?
(A) 128 (B) 120

(C)78 (D) 170

Direction: In the following question, two statements
are given, followed by two conclusions | and Il. You
have to consider the statement to be true even if they
seem to be at variance from commonly known facts,
You have to decide which of the given conclusions, if
any, follow from the given statements.

Statements:

(1) Due to contamination of water, large numbers of
people were admitted to hospital.

(2) The symptoms were of Typhoid

Conclusions:

I. Contamination of water may lead to Typhoid.
Il Typhoid is a contagious disease.

(A) Only conclusion | is true

(B) Only conclusion Il is true

(C) Both conclusions | and Il are true

(D) Both conclusions | and Il are false

In the following question, select the related group of
letters from the given alternatives.

BD: YW :: HJ: ?
(A) SR (B) QQ
(C) sQ (D) ST

A question and three statements labelled (1), (Il) and
(1) are given. You have to decide which statement(s)
is/are sufficient to answer the question.

Question: What is the average weight of A, B, C and
D?

Statements:

I. Weight of B is 18 kg more than A and 20 kg more
than C. Weight of D is 40 kg which is 10 kg less than
C.

147.

148.

149.
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Il. Average weight of B and C is 60kg. A’s weight is
12 kg more than D’s weight.

(A) Only statement | is sufficient.

(B) Statement | and Il together are sufficient.

(C) Data is not sufficient.

(D) Only Il is sufficient.

Select the option in which the given figure is
embedded. (Rotation is not allowed)

N
£
1z

Select the option in which the given figure is
embedded. (Rotation is not allowed)

{
X o

Choose the option that most closely resembles the
mirror image of the given Figure when mirror is
placed at right side.

o8
=

i)

(A) (B)

O
=
o

(A) (B)

il
<0
© ©)

s
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150. A series is given with one term missing. Select the
correct alternative from the given ones that will
complete the series.

AZ, GT, MN, SH, ?

(A)YB (B) VE
(C) YD (D) RI
151. Which answer figure will complete the pattern in the

question figure?
Questions figures :

Answer figures :

NN >

(a) (b) (c) (d)
(A) Figure (a) (B) Figure (b)
(C) Figure (c) (D) Figure (d)

152. If ‘ANSWER’ is coded as ‘NBWTRF’ then what is the
code for ‘MYSORE’?

(A) YNOTSE (B) YMOSER
(C) YNOTES (D) YMOTES

153. Three statements are given, followed by three
conclusions numbered |1, 1l and Ill. Assuming the

statements to be true, even if they seem to be at
variance with commonly known facts, decide which of
the conclusions logically follow(s) from the
statements.

Statements:

I. All markers are pens.

II. No pen is pencil.

Ill. Some pens are sharpeners.

Conclusions:

|. Some pens are markers.

II. No marker is pencil.

I1l. No marker is sharpener.

(A) Conclusions | and Il follow

(B) Conclusions Il and III follow.

(C) Either conclusion | or Il follow.

(D) Conclusions | and Ill follow

Direction (154-156): Study the following data carefully and
answer the questions accordingly.

Eight cricketers M, N, O, P, Q, R, G and H stayed on
eight different floors of a hotel in England during world
cup but not necessarily in the same order. The
ground floor is numbered 1; the floor above it is
numbered 2; and so on, until the topmost floor is
numbered 8. O stayed below R. Q did not stay
immediate above G. More than two people stayed
between H and G. R stayed on odd number floor but
not on the third floor. H stayed immediate below R.
Six persons stayed between M and G. P stayed
immediate above Q but below N.

154. Who among the following stayed on the sixth floor?
(A)N
(B) The one, who stayed just below M
(C) The one, who stayed three floors above O
(D) The one, who stayed between R and N

Fb:-

155.

156.

157.

158.

159.

160.
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The number of persons stayed between M and P is
same as the number of persons stayed between O
and .

(AN (B)R

CH (D) G

If H is related to P and R is related to N then, in the
same way, Q is related to -

(A)O (B)N

Ok (D)G

In the following question, one statement is followed by
two Assumptions | and Il. You have to consider the
statement to be true, even if they seems to be at
variance from commonly known facts. You have to
decide which of the given assumption(s), if any,
follow(s) from the given statement.

Statement: “Peace and justice are the two side of the
same coin.

Assumptions:

I. Peace and justice cannot coexist.

Il. Peace and justice thrive together.

(A) If only assumption | is implicit.

(B) If only assumption Il is implicit.

(C) If neither | nor Il is implicit.

(D) If both | and Il are implicit.

In the following question, one statement is followed by
two Assumptions | and Il. You have to consider the
statement to be true, even if it seems to be at
variance from commonly known facts. You have to
decide which of the given assumption(s), if any,
follow(s) from the given statement.

Statement: “If you work hard, you will pass the
examination”.

Assumptions:

I. You will not pass the examination.

Il. To pass, you must work hard.

(A) If only assumption | is implicit.

(B) If only assumption Il is implicit.

(C) If neither | nor Il is implicit.

(D) If both | and Il are implicit.

Statement A: / A green leaf doesn't resist turning red
when autumn approaches.

Statement B: Likewise, humans must also not fight
the law of the Universe.

Conclusions:

I. Leaves turning red in autumn is the law of the
Universe.

Il. Humans are not that different from leaves.

(A) Neither I nor 11 (B) Only 1l

(C) Both land 1l (D) Only 1

Three friends A, B and C are standing around an
equilateral triangle park in such a way that A and B
are standing at the base and C is standing at the top
corner. The measure of each side is 6 meters. B is
standing at the south-east of C. A and B walk towards
North-West and North-East respectively for 6 meters
at 60-degree angle. Then B and A turn towards their
left and right respectively and meet at C. What is the
distance between A and B now?

(A) 6 meters (B) 0 meters

(C) 28 meters (D) 7¥2 meters
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10.

11.

12.

13.
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Answer: (B)

TBAMES ded-o arad § gadl ® 33T, HIEHI,
3efiate anfe &1 UG Udhe BT 8, I SWAES alad
Pgd gl

Answer: (D)

98 Hid off ThTd Hiddl S H HRA 8 I &
T T TG - SRS a

3 faded -

goid BT 34 - 33T 1 IqH Hid

TRIH I BT 31 - ARTHT ST AT

Answer: (A)

0 T el & IR Weg SUCH IR R
fdwr-fa + 3w

IRYE - W + U¢

BeH - 35 +TH

Answer: (D)

& & 13 100 9 B AR @t & T & v
Jaferd Wfsadh WU I &M H I19d gU &R HBT Pl
T 3YH Teg U g1 45 B <t 7 UdTei Pgd g
Answer: (B) f&d TR T & SIUR IR '3 UIRI[dH
Teh I o P H T’ Weq raAIHD AT g1 T
I g S T T U AHR T Ve Y fA=wor
5 aRg faxivar ga1d €, 3 e fARiv Hgard g
Answer: (B) 38 T Treal § '$od' Ud § fAfHd Wrsg
g 5 39 + TP WS B YA J ¥ § T TH'
TY T 21 U TeE & 9D (I § 98d § e
U Tea & 3T (Gd) FSdl 3| AW fabed SRATA B
Answer: (D) THIN&" g TfY BT ISTERUT gl &l
m%%%wmmmmma+@w
ERikd

R fJhed WOR &1 I [ 91 + 9R, 3id &1 $ifd
+ 3 3R YEMR &7 q + MR T

Answer: (C) T & SR RATHIAS Teg H IUFIH
3R U M | SHH WHE' Td TG, '3 JUW 3R
3" TId g | AN fdhed 3R

Answer: (C) &8 T TR & SFTHR 'S1fgH BT UiGAT
o foRIvur &1 yhiT gt 83 § Siesh IRIG HRB DI
TINT g1 & | Tral Al o, M1fes fawar ofik we TRom
=0T T RN g B

Answer: (A)

TIRIATES T - ford Ta-m ¥ fheft gk 9d s I
Trey R fobaT o, I8 Freydrad 9o+ Hed gl
S —oMgT-99T, S-4|

I BT e 3 §-TasT a1 3pufd fedt I &
R H SieH a1 g b g A b RIH W Uged gH
I Teg Y HEATd o | oF9-gd, T, H 8nfe |
Answer: (B)

TRBAMAG ded-foF g | dadl & 33, HIEHI,
3mefafe 31 HT1 HIG Yabe BiT 8, I8 SHIaED A
FEd g

Answer: (B)

SIS & ORAT I T B '3HTeg] WUs' & A I o
AT 81 39H HBIST (S.U) & IR 3MegT 3R Hed bl
FRaAT P YT, IR U F 3y 3R A YW & gad
QUG B Tl b0 IR AT B

1865 . § ATeH 3ferge 3 forg ' 31Teg] WUS' &1 YHRH &
7 YT, 98 AR TRERT R 81 3nuiid 81 sW ufd &
YR TR 3T, MR &1 A TRAT 9" HT 16 AR
U fhar 3R I ANRY v=iRoft JHT § UhTRId B

Answer: (B)

14.

15.

16.

17.

18.

19.

20.

21.
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fRufif & I RRR W o Rrer o 2 sig a8 U
&7 "I HeTeTed O ot Tt § e Tafidr s
FR TIG € | HTHE STATEre! I &1 oy ft wet
HTH | BT Bt IG11936 5. B UHIAT g3 |
SRR TG -

Rl ®fd, TCH PR, FEHIBR, STINHR adT -
éﬂ@;%é%ﬁ%@ﬂﬁﬂgﬂ%ﬂﬂﬂg@ﬁlﬁﬁﬁq
C

SRR UG b1 7 - O

Answer: (D)

$S = -3, F I (B, T, 7, 9, F)
ag-g—s‘,aaﬁ(%r,@,ﬁr,s{a)u,m

g -B, T F ([, 3,8, 3, M, I, ¥

TA=dd (@, 4SYTT Y=o @d) Ju ¥ = 3I-
GG,traﬁ(cr,tg,a,u,u)

FHodrg = U-

HoIg = -3t

Answer: (D)

FS U el b I H S F R W FH UG @
PR ITPT 3= FolvT SR Wi 8

SY: qUGT - quiegHy

3 q -

foiir - ¥31 & 59 ®u @ Afad a1 a¥g $1 R 1 A1aT
ST1fel &1 sy 8, I ATH § AT Ped Bl

ORI - o T Wed! A GEY S1fa 7 Sy e §, I/
JdaX, &4, dh], AdShI)

AT - forg T Weg F W Sl BT Y Bl 8, I
AT Fed g1 @aT, I, 9, Piean, saRar, gRe,
Answer: (B)

U P ™A R GgEd g dld Wog DI HAH Hed
%@ﬁ%qmﬁ%ﬁummmm
IS

- § q, qM, 31U, 98, 9 S|

Answer: (A)

fqu T fawedl & ¥ g3 $ad o $UT AT a6 g
< 8, 3 fadeu 3IyE 3

Answer: (A)

G T Teg BT T 312 - U Y 3T BT & 3 faepey
STGRIR Weq, & et 3f TSR |

3 fapeal & 3k -

S I 3N - FSaid

T &I 3T - qrEd

Answer: (B)

quf a1ey - 4R R Y Tae § deH &1 ughi e
gfafe Sed! o 361 81

fawe

gad &1 3 - Ugd BT, ST

UgeH &1 1Y - AW U F g, IHSHT

yraa &1 31 - g 3, e ST

Answer: (B)

I AUS Eet BT UUH JHARIR U UT| STHT UHTRH
3073, 3¢RE 5. H popdl I U Idlied U & =7 H
I G AT

Answer: (C)

'3Te T PT UG ATGH BT GgTaR &1 37 "HieTs
1 I " B

HETAN - RN’ &1 3 Sierdrd &1 YNl § Hidblad &4
Y fpdt UTg B Usbe BT 8

3(d: el fdhed ¢ ‘B &1 JH e B

Web :-



https://www.facebook.com/tesmuseduserve
https://tesmus.com/

UP_SI_2024 TEST ID - USI - 887702527

22.

23.

24.

25.

26.

27.

28.

29.

30.
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Answer: (A)
aﬁgﬁgﬁ%mfﬁwsﬁ%ﬁwﬁw
|

%mruanwwvﬁw%m%ﬂﬁmmmw
|

Answer: (D)

YA Ud, TeTed! 9Hf 59 Blod YRT & Ul By
A S €| BHTATE AHGR $T AT TPHeeR Tusy o
InI

Answer: (D)

TETaR &7 37d-

1. A1%-Yt TGHT - YOI Yahe Bl

2. ST T - Hefdh TR

3. A BT - TS IR A G

4. SfRTGT IS - S e T BT

3fct: faehed (d) TEt ITR BT

Answer: (B)

PRI U YRAg ol 8 S sAe URd g
TuT % fageh yred ot e §1 wg o ¥ o) fordt
STt 81 SR H 52 &R A 2

Answer: (D)

Tolt R THRR v & Tures It dequr Rig A1 ol

err Rz 3 3MRT ¥ goniRdd Ame td uF e

TUT FITET & TG, Fegd SR UM Mpaay &1
3fgarg it foar | Irom gHUT Rig = RydR =5 &1 BrRAt

Tecract gard fgat forgs @t Afifd &1 faRiy fasan| g5

< Rl foram &1 e feram

Answer: (B)

AT - AT BT a8l & — IfSwBUT| 3]

feaep 31f BT 8 BleT U YT o7 & U7 &l & 3w

el F AR S 701 3R BieT eg 701 & 39 eg Bl

JHE HEd 2

TETEY &1 JHY 378 - Her 8 S §lu

(FHYRY JAT)

FHYRY I - 98 9N et ygar ue fagivor we

GIRT UG IR Bidl € 31yal gdue U9 ITRUG & SUdH

%Wmmww%fmfwwm
|

SIY- HETEIU H 319 3 ¥ehd ¢ & 419 & 7gM gF &

TR SdTE S X&) 7 Sfa: Tg ITER HHYRT TH

& Sfcid T |

Answer: (B)

3ferdTHId GHI UGl I1 gduS 3(oid gl § 3R 39

1 3 YU BT 81 310y & AT I FHIAUG Y 3/
§ 1T ¢ | SUH gaUE WU BIdT 8| SoqiiHId 9a &

REARRUI
* TS 7 T AR
* gyHfd : Afd & AR
« gfafed : faq-faa
* JTSlaH : Sfta HR
Answer: (C)
Ygarae I - o Weg Al W wm uerf @t
STRT, G T UG P §1Y Hd 8, 37 sl &
YIgaTad T Hed &1

|
ASTHET b Yardl BT g BT §gd &l o 8 |
Yerdl Teg ¥ Y 1 & UId BT a1y B @7 g 3k
Yerdl T WIgdTaId T et 8
Answer: (D)

T S BT Sy PR ITdd Weal b AT TWeg HEA B

31.

32.

33.

34.

35.

36.

37.
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T Yec, Wl TG BT SNy HRIAT & 37 77, WAT oa
|
Y- TASHT BT Wi ‘ASH! B

Answer: (B)

fH & UuH TWHR dwqed § Il UHE
T TR 81 URdg sREs T wifed & wuH gu
YRAG T & Udde g

Answer: (D) ]
Yiadrad I | 93, §e,dC I 3fd gH e I
WA I 31

fRaert - iRl

Answer: (A)

fopaft off fa=iv =afda, avq o1 M & A1 &1 91y A

Irelt TS Afdaara® T Hedk §159d fid -

feT , ®IF , uioft 31 o1 sy fbar Sar g1 I,

ITERGHE 3R T g cufdiaTas S ©.

Answer: (B)

FW'W'%%WWH@W
|

Tfe, R0, sfaem, Yia enfe fafdy fawt w

3TH U 3y TP 3] I Bl o Riavarg 3

Te1el # Fraferad e Sgd URig §-

AFaYHIR

IR BEER]

SRS &1 HIaT

fareipy

ST HIS T U

gfaer faftR e

Sdret g

TAHE-IH (SMTHPBYI)

fofy gra=h ufdde (1868 %)

Answer: (B)

3P VGl & TP TMeg :- YW H B3 sl & WM WR

%m%&:ahamsn HIST I UHTGRE Td 3ThNdH

|

fores o $@ ot 7 8 Y sifchae e B

3 fapedt & 3ref -

wrff &1 oo St oA fRd & R # e g

el &1 3 S gt B gHE P A S@ar |l

el drgarel &) WA HEa g

Answer: (A)

fou U et H a ey T § Hifd o &

IR {81 TR & 81 fooan S|

o 1 BT & - o 9 WRI ! Feradl 4 i o &

3I2 o Ped ¢l B S b IR H 3 TR A

BT 81 31 & 1 &S &1 I=RYT 16} 81 Gl

FI-H,9,7T,9,F
gf-49,9,9,9,9
Tq-T,3,8,8,0(33T)
daf-d,9,g, 4,4
Uq-U,%,9,4,H
A -9,3,d,d
IH-U,¥,9,83

Answer: (B)

Tl 2reg &1 fAudla a1 Ieet 31 1 aTdl Weg Y faeH
YeE HBd ¢ | GUR Neq! H HYT S dl Th g¥R & AUl
1 et 31 37 91 e, fadliH Peard g1 3ra: faas &1
3 § et T faRielt 3ref & ara |
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Answer: (C)

ot BT 34 - gat 1 37 I U H Wregf F Ui
Sffireged B 1 fspaT b ped B

el ad-l 2P ¥ R[S Wed ¢ 1 Wl HT Yg =Y
FeWfd 8, og ut o+t wgt 31

3 fadweq

e 1 34 - ufer, Jar

FHartEt o1 31 - wfar == g Wi

Ioad P13 - e, WD

Answer: (C)

1 B IJUEHT bac SHIY §3, Fifch IAsila JHDT (UM
Y gfaam Bl

Answer: (C)

S &™ R, Iat TR et g § foaH-
I Real o SINY favegl &l diell H G SamT off g7
B 3 fawpe ¢ Tgt grm|

JIERARS FaaH - o9 TaqH et BT gaT foedt
TG 1 Afed BT T~ FdH & g fHar 9Y 9 g
YISR/aTIP Ja-TH Hgald o

S - O-99, St-3gt, fSramr-Saqn, S 3nfe

Law/ Constitution & General Knowledge

41.

42.

43.

44.
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Answer: (B)

Sound and light waves both have properties of
wavelength, frequency and amplitude.

Both are forms of wave motion.

Sound is a form of mechanical energy caused by
vibrations of matter. Light is electromagnetic energy
caused by interacting electric and magnetic fields.
Answer: (B)

* NRC stands for National Register of Citizens.

* NRC was first prepared in Assam in 1951 after the
Census 1951 was conducted.

» The National Register of Citizens (NRC) is a register
of all Indian citizens whose creation is mandated by
the 2003 amendment of the Citizenship Act, 1955
Answer: (B)

The 69th Constitutional Amendment Act of 1991
provided a special status to the Union Territory of
Delhi, and redesigned it the National Capital Territory
of Delhi and designated the administrator of Delhi as
the lieutenant (It.) governor. It created a legislative
assembly and a council of ministers for Delhi.
Previously, Delhi had a metropolitan council and an
executive council.

The strength of the assembly is fixed at 70 members,
directly elected by the people. The elections are
conducted by the election commission of India. The
assembly can make laws on all the matters of the
State List and the Concurrent List except the three
matters of the State List, that is, public order, police
and land. But, the laws of Parliament prevail over
those made by the Assembly.

The strength of the council of ministers is fixed at ten
per cent of the total strength of the assembly, that is,
seven—one chief minister and six other
ministers. The chief minister is appointed by the
President (not by the It. governor). The other
ministers are appointed by the president on the
advice of the chief minister. The ministers hold office
during the pleasure of the president. The council of
ministers is collectively responsible to the assembly.
Answer: (C)

Criminal Conspiracy is included under two sections,
i.e., section 120A and 120B and explains criminal
conspiracy as - When two or more persons agree to
do, or cause to be done, an illegal act, or an act which

45,

46.

47.

48.

49.

50.
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is not illegal by illegal means, such an agreement is
designated a criminal conspiracy.

Answer: (C)

+89™ Constitutional Amendment Act bifurcated the
Combined National Commission for Scheduled
Castes and Scheduled tribes into two separate
bodies.

« There have been 104 amendments of the
Constitution of India since 1950, as of 2020 January.

« 42 Constitutional Amendment Act is also known as
Mini constitution, it added Socialist Secular and Unity
words in Preamble and added Article 51A as
fundamental duties. It was enforced since 2
November 1976.

+ 43 Constitutional Amendment Act was enforced
since 13 April 1978 and it restored SC and HC
jurisdiction of judicial review powers.

+ 44 Constitutional Amendment Act was enforced
since 6 September 1978 and it replaced the term
‘internal disturbance’ by ‘armed rebellion’ under
national emergency provisions.

« 93" Constitutional Amendment Act of Indian
Constitution was enforced since 20 January 2006 and
it provided for 27 percent reservation for other
backward classes in government as well as private
higher educational institutions.

Answer: (C)

e The idea of non-cooperation movement during the
freedom struggle did not envisage popular violence.

e The idea of non-cooperation

movement during  freedom. struggle envisages
the boycott of civil services, the boycott of foreign
goods and the surrender of British

titles.

e The non-cooperation Movement

was launched on 31st August 1920.

Answer: (A)

* T 'V Somanathan was appointed as the new finance
secretary in April 2021.

* In April 2021, Appointments Committee of the
Cabinet (ACC) has approved designating T V
Somanathan, Secretary, Department of Expenditure,
Ministry of Finance as Finance Secretary.

* Earlier, he was the Secretary of Department of
Expenditure.

* He has replaced Ajay Bhushan Pandey.

* TV Somanathan is a 1987 batch IAS officer of Tamil
Nadu cadre.

* Currently, Nirmala Sitharaman is serving as the
Finance Minister of India.

Answer: (C)

Apart from the directives included in Part-IV of the
constitution, there are some other directives that are
contained in other parts of the constitution-

First, is “Claims of SCs and STs to Services”, i.e.,
Article 335 in Part XVI. Second, “Instruction in mother
tongue”, i.e., article 350- A in part XVII and third, is
Development of the Hindi Language i.e. Article 351 in
part XVII.

Article 338 belongs to “National Commission for
SC/ST”.

Answer: (C)

The genetic material of a body is found in DNA. This
DNA is situated in chromosomes which are located
inside nucleus of a cell. There are 23 pairs of
chromosome. The last pair is known as sex
chromosome.

Answer: (A)

The SR Bommai case, 1994, dealt with Article 356
and mentioned few restrictions on its usage.
» The verdict concluded that the power of the
President to dismiss a State government is not
absolute.
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» The verdict said the President should exercise the
power only after his proclamation (imposing his/her
rule) is approved by both Houses of Parliament.
 Till then, the Court said, the President can only
suspend the Legislative Assembly by suspending the
provisions of the Constitution relating to the
Legislative Assembly.

» The dissolution of the Legislative Assembly is not a
matter of course.

* It should be resorted to only where it is found
necessary for achieving the purposes of the
Proclamation.

Answer: (C)

An aquarium is an artificial ecosystem made by man.
An ecosystem is said to be complete if it possesses
all the biological and physical components that are
vital for the survival of fish.

Answer: (D)

Apart from the above factors, the world's largest
rivers form their delta in the equatorial region, which
reduces the salinity there. In addition, clean water
brought from the polar region by ocean currents is
also helpful.

Answer: (C)

The Parliament of India (or Parliament) is the
supreme body of the Legislature of India. This is a
bicameral system. The Indian Parliament consists of
the President and two Houses - Lok Sabha (House of
the People) and Rajya Sabha (Council of States). The
President has the power to summon or adjourn either
House of Parliament or dissolve the Lok Sabha. The
Parliament of India operates in the 'Parliament House'
which is located in New Delhi. The Rajya Sabha is
called the upper house and the Lok Sabha is called
the lower house. But it is only said in practice
because nowhere in the Indian constitution has the
term lower house been used for the Lok Sabha and
the upper house for the Rajya Sabha.

The Lok Sabha consists of representatives elected by
the people of the nation. Rajya Sabha is a permanent
house. The members of the Rajya Sabha are
elected/nominated for 6 years. 1/3 of whose members
retire every 2 years.

Answer: (B)

* The Money Bill is defined in Article 110 of the
Constitution of India.

* The article contains detailed definition of the money
bill.

« It also states that a Bill shall not be deemed to be a
Money Bill in case of imposition of fines or penalties,
or fees for licences or or taxes imposed by local
authority for local purposes.

» The article states that the decision of Lok sabha
speaker decision is final in deciding whether a bill is
money bill or not.

Answer: (B)

'World Cancer Day' is celebrated every year on 04
February. The purpose of celebrating this day is to
reduce awareness and stigma about the disease.
‘World Pulses Day' is celebrated every year on 10
February. The purpose of celebrating this day is to
boost the production of pulses. 2016 was first
declared as the International Year of Pulses.

'‘World Leprosy Day' is celebrated every year on 30
January. The purpose of celebrating this day is to
spread awareness and prevention of leprosy among
the people.

On 28 February 1928, the famous physicist of the
country, Sir Chandra Shekhar Venkat Raman,
discovered the 'Raman effect' for which he was
awarded the Nobel Prize in the year 1930. On this
occasion, this year is celebrated as National Science
Day every year since February 28, 1986.
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Answer: (C)

The highest airport in India is Leh airport.

Itis 10682 ft (3,256 m) above the mean sea level.

The airport is named after 19" monk Kushok Bakula
Rinpoche, whose Spituk Monastery is in direct
vicinity to the airfield.

Answer: (B)

James Andrew Ramsay, later known as Lord
Dalhousie, served as Governor-General of India from
1848 to 1856. During his reign, in 1853, the first
railway line between Bombay and Thane was opened
and in the same year, telegraph service was started
between Calcutta and Agra. Including all these
reforms, the Public works department was also set
up. Due to the above reforms, Lord Dalhousie has
been regarded as the maker of modern India.
Answer: (C)

The National Human Rights Commission (NHRC) and
State Human Rights Commissions (SHRCs) are
statutory, non-constitutional bodies, established in
1993 under an act of Parliament, i.e., the Protection
of Human Rights Act, 1993. A constitutional body is a
body that is provided in the Indian Constitution.
Answer: (B)

e The Eleventh Schedule of Indian Constitution
contains the provisions on Panchayat Raj Institutions.
e This Schedule of Indian Constitution was added in
1992 by the 73rd Constitution Amendment Act.

e Some important subjects under this are
Panchayat's powers, rural development, poverty
alleviation, market, roads and drinking water, etc.
Answer: (A)

Vitamin B12 also calledcobalamin, is a water-
soluble vitamin ‘with a key role in the normal
functioning of the brain and nervous system, and for
the formation of blood. It is one of the eight B
vitamins. It is normally involved in the metabolism of
every cell of the human body, especially affecting
DNA synthesis and regulation, but also fatty acid
metabolism and amino acid metabolism. Neither
fungi, plants, nor animals (including humans) are
capable of producing vitamin Bi2. Only bacteria and
archaea have the enzymes required for its synthesis,
although many foods are a natural source of
Biz2because of bacterial symbiosis. The vitamin is the
largest and most structurally complicated vitamin and
can be produced industrially only through bacterial
fermentation-synthesis.

Answer: (C)

Australian Open 21 2021

Male Singles

Winner - Novak Djokovic (Serbia)

Runner-up - Daniel Medvedev (Russia)

Female Singles

Winner - Naomi Osaka (Japan)

Runner-up - Jennifer Brady

French Open 2020

Male singles

Winner - Rafael Nadal (Spain)

Runner-up - Novak Djokovic (Serbia)

US Open 2020

Male Singles

Winner - Dominic Thiem (Australia)

Runner-up - Alexander Zverev (Germany)

Answer: (C)

* NITI Aayog launched the first-of-its-kind Online
Dispute resolution (ODR) handbook in India on April
9, 2021.

* ODR is the resolution of disputes outside courts,
particularly of small and medium-value cases, using
digital technology and techniques of alternate dispute
resolution (ADR), such as negotiation, mediation, and
arbitration.
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Answer: (B)

The magnetosphere of Jupiter is the largest
planetary magnetosphere in the Solar system.
Jupiter’'s magnetosphere is stronger than Earth’s
by an order of magnitude and its magnetic moment
is approximately 18,000 times larger.

Answer: (B)

Dr Krithi K Karanth has been chosen as the first
Indian and Asian woman for the 2021 ‘WILD
Innovator Award'.

This award given by the 'WILD ELEMENTS
Foundation'.

She is the Chief Conservation Scientist at Bengaluru-
based Centre for Wildlife Studies (CWS).

In 2011 Krithi K Karanth was honoured as National
Geographic Society's 10,000th grantee.

She was selected as National Geographic Emerging
Explorer in 2012.

She was selected as one of India's Power Women by
Femina in 2012.

Answer: (C)

* The printing of budget

documents starts with a customary ‘Halwa
Ceremony’, during which the sweet dish is prepared
and served to the finance ministry officers and
support staff involved.

* The ceremony marks the start of the lock-in period
to maintain budget secrecy, which means the staff
remains isolated and stay in the North Block office
until the Budget is presented in parliament.

Answer: (B)

National Waterway 5 connects Odisha to West
Bengal using the stretch on Brahmani River, East
Coast Canal, Matai river and Mahanadi River Delta.
Answer: (C)

Article 321 of the constitution mentions that any act
made by the Parliament or State Legislature may
provide for additional functions to be performed by
Union Public Service Commission or State Public
Service Commission as respect to the service of the
Union or the State.

Answer: (B)

Lt Gen Rajeev Chaudhary has been appointed as the
27th Director General of the Border Roads
Organisation (BRO). He started his duty with effect
from 1st December 2020. He succeeds Lt Gen Harpal
Singh who has been now appointed as the new
Engineer-in-Chief of the Indian Army. Hence, option B
is correct.

Answer: (D)

World Bank (WB) has released its latest report on
“South Asia Economic Focus”.

Answer: (D)

The Fundamental Rights can be suspended during an
emergency by the President. The President of India is
vested with special powers during the state of
emergency in India. The President becomes the real
and overall head of the Indian state. This reflects the
unitary feature of Indian State.

Article 359 of the Constitution authorizes the
President of India to suspend the right to move any
court for the enforcement of Fundamental Rights
during National Emergency (except Article 20 and
Article 21).

Answer: (A)

Lord Cornwallis is known for permanent revenue
settlement of Bengal in 1793.1t was an
agreement between the British East India Company
and the Landlords of Bengal to pay a fixed revenue to
the English East India Company and the landlords
would in turn become the owners of the land having
hereditary rights and rights to collect revenue from the
tenants.
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Answer: (B)

The 19" edition of the Indian and French Navy
bilateral exercise VARUNA-2021 carried out in the
Arabian Sea.

This bilateral exercise was conducted from 25 to 27
April 2021.

In this exercise, the Indian navy was led by the Flag
Officer Commanding Western Fleet Rear Admiral
Ajay Kochhar.

The French navy was led by the Commander Task
Force 473, Rear Admiral Marc Aussedat.

This bilateral naval exercise was initiated in 1983 and
it was christened as 'Varuna' in 2001.

Answer: (C)

« Article 159 of the Indian Constitution mention the
Oath or affirmation the Governor has to make before
entering his office.

» The oath of office to the Governor is administered by
the Chief Justice of the concerned state High Court.
» Every person discharging the functions of the
Governor also undertakes the similar oath or
affirmation

Answer: (D)

Saline and alkaline soils have high pH, i.e., more than
8.5. The pH value of black soils is 7.5 to 8.5, for Arid
or desert soils is around 7.0, for laterite soils is 5.0 to
6.0 and for red soils is 6.0 to 7.5.

Answer: (A)

The Environment protection act, passed in 1986, was
passed after the Bhopal Gas tragedy, that happened
on the night of 2 -3 December. It was one of the
most horrifying man-made disasters of recent time.
MIC or methyl Isocyanide gas was spread which
killed thousands of people and made lakhs of them
visually/ physically impaired.

Answer: (D)

Kasturirangan Committee is related to the National
Education Policy. Except option D, rest were set up to
recommend on centre-state relations.

Sarkaria Commission was set up in 1983 by the
central government of India. The Sarkaria
Commission's charter was to examine the central-
state relationship on various portfolios and suggest
changes within the framework of the Constitution of
India.

In the year 1970, the Rajamannar Committee was
constituted by the Tamil Nadu government to
consider the central and state relations.

The Government of India constituted a Commission
on Centre-State Relations under the chairmanship of
Justice Madan Mohan Punchhi, former Chief Justice
of India on 27th April 2007 to look into the new issues
of Centre-State relations keeping in view the changes
that have taken place in the polity and economy of
India since the Sarkaria Commission had last looked
at the issue of Centre-State relations over two
decades ago.

Answer: (A)

* Indian Constitution provides Single Citizenship.

» The concept of Single Citizenship is borrowed from
Britain Constitution.

 Part Il of Indian Constitution deals with citizenship
from Article 5 to 11.

* There are four ways in which Indian citizenship can
be acquired: birth, descent, registration and
naturalisation.

Answer: (A)

Kami Rita scaled Mount Everest 25th time in May
2021.

He first scaled Mount Everest in 1994 at the age of 24
years.

He also scaled other famous peaks like K-2, Cho-
Oyu, Manaslu, Annapurna and Lhotse.
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Shivangi Pathak is an Indian mountaineer. She
became India's youngest person to climb Mount
Everest.

Keval Kakka became the first Indian to climb two
8000m peaks of Mount Everest and Mount Lhotse in
6 days.

Anshu Jamsenpa is the first woman in the world to
scale the summit of Mount Everest twice in a season.
Answer: (A)

« 22 Parts, 395 Articles and 8 Schedules were there in
the original Indian Constitution.

* The Indian constitution declares India a sovereign,
secular, socialist, and democratic republic, assures its
citizens justice, equality and liberty, and endeavors to
promote fraternity.

» The Constitution was adopted by the Constituent
Assembly of India on 26 November 1949.

» The Constitution of India became effective on 26
January 1950.

» During the Emergency, The words "socialist" and
“secular” were added to the preamble in 1976 by
42 Constitutional amendment Act.

Answer: (B)

Angutara Nikaya which translates to “Collection
of Gradual Discourses" is the fourth of the five
divisions of the Sutta Pitaka. Anguttara Nikaya
contains suttas spoken by Buddha in numerical
order. It gives a list of 16 Mahajanapadas in the
early 6th century BC.

Sutta Pitaka contains over 10 thousand sutras
related to Buddha.It also tells about the first
Buddhist council at Rajgir around 400 B.C., under the
patronage of king Ajatasatru presided by monk
Mahakasyapa.

Khandhaka is the second book of Vinay Pitaka. It
contains regulations on the course of life in the
monasteries. It has two volumes, viz., Mahavagga
and Cullavagga. It also gives a narration of Buddha’s
Awakening.

Abhidhamma Pitaka is the last of the
Tripitaka. Abhidhamma is a compilation of the
Buddha's teachings and deals with ethics,
psychology, theories of knowledge, without reference
to individuals and events. It is divided into seven

books.
Mathematics

Answer: (A)

Let the total journey be of 1200km[Multiple of LCM of
3 and 4]

Then journey covered at 80km/hr=1200/3=400km
Journey covered at 50km/hr= 1200/4=300km
Remaining journey at 100 km/hr =1200-400-
300=500km

Then time taken to cover 400 km=400/80=5 hour
Time taken to cover 300 km = 300/50=6 hour
Time taken to cover 500km=500/100=5 hour
So, average speed = Total disance / Total time =
1200/(5+6+5) = 75 km/hr

Answer: (C)

Let x = /7 /7 N7 ...

On squaring both sides, we have: x2=7x
Hence x =7
Now, 7 = (343)v"

1=3y-3
y=4/3
Answer: (C)

Let us suppose that the number be x and 4x.
Then

84.
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x X4x =84 %21

84 x 21
x% = x =21
Hence larger number be 4x =4 x 21 = 84.
Answer: (A)

Sum borrowed = Present worth of Rs. 17640 due 1
yearhence + present worth of Rs.17640 due 2 years
hence

17640 17640
5 + 5 \2
(1 +W) (1 +m)
20 20 20
=Rs- (17640 X H+ 17640 X — X—)

21 21
= Rs. (16800 + 16000)
Rs. 32800
Answer: (D)

= Rs -

0 I
100 % M =150 * TV
On solving x = 7y
andy=LXx

100

LI
Y=T00" "
_ 100

7
= 217,100 N
21%ofk—100x . =3
Answer: (A)

I9X6+24+8+20f5-30+40f4

Applying BODMAS rule —
=9X6+244+8+10—-30+-16+27x5+9

=9x 6 + 8 30+27><5

7724710 16 9

= 2 + 8 3 +15

T 4710 16

_9+ 8 AT 30 647

4710 16 40

Answer: (A)

From multiplication rule, Number of ways = 14 x 12 =
168 ways

Answer: (C)

Let B’s income be 100x.
Then A’s income = 100x — (100x) x 60%
= 100x — 60x = 40x

Required percentage

100x—40. 60.
= 2T 100 = 22 x 100
40x 40x

= 150%
Answer: (A)

Number of students like football = n(A) = 16
Number of students like volley ball = n(B) = 18
Total students = n(AUB) = 30
N(AUB) = n(A)+n(B)-n(ANB)
30=16+18- n(ANB)
n(ANB)=4.
Answer: (C)
Selling price =21
Let the loss percentage be x and cost price
=X
Then
X
X — m Xx =21
X2-100x+2100=0
X2-70x-30x-2100=0
X=30 and 70
So cost price off book is 30 or 70
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Answer: (B)

Let the CP = Rs. 100

MP = Rs. 160

SP =160 x (75/100) = Rs. 120

Profit = Rs. 20

% profit = 20%.

Answer: (C)

Short Trick:

Mixture A : B=4:1

After 10l out, A :B =4:1

Replaced by B, A : B=2:3

=4:6

Here 5 ratio equals to 10l => 1 — 2

and, (4+6)*2 =20

Since initial and final quantities are same
So intial Quantity = 20l

A initially in mixture = 4/5 *20 = 16l
Alternate Method:

Let mixture of two liquid contains A liter of first liquid
and B Itr of second liquid.

@:824:1
A

A 4 B A
—_—=—_- —_- —
B 1 4
A+B =V

Let V be the total volume of Jar

Then A=4/5V; B=1/5V

If 10 litre of the mixture is replaced with liquid B, the
ratio becomes 2 : 3

Hence portion of A and B in 10 Itr of mixture =
(4/5)x10 and (1/5)x10

=A’s portion = 8 Itr

=B’s portion = 2 Itr

Newer portions of A and B are (A — 8) Itr and (B — 2
+10)=(B+8) Itr

Therefore (A—-8) : (B+8)=2:3

A—S_Z(“ _A)A—8_23(A 8
B+8 3\ " 4JA o 3
4

—2(A+8)3A A—16+245A

-4 2 2

= 40A = 16ltr

Answer: (C)

Math + Science + English = 72x3 = 216

Science + English + History = 64x3 = 192
Subtracting second from first we get,
Math - History = 216 - 192 = 24
M=24+H
M =24 +56 =80
Answer: (A)
Let the initial speed of the car = S km/hr
Speed after every hour is increased by 2 km/hr, so
the distance travelled after every hour will be-
S km + (S+2)km + (S + 4)km +.......... (S+14 km
Total distance travelled = 8S + 56km = 728 km
8S =728 -56 =672 km
S = 672/8 = 84km/hr
Answer: (D)
2A=3B=5C
LCM of 2,3,5is 30
Then A:B:C
30 30 30 15:10:6
=iz = 1510
Answer: (D)
Since absolute ratio of the numbers and HCF of the
numbers are given, the numbers are 8 x 7 = 56 and 8
x 13 =104.
Now, LCM of 56 and 104 = 56 x 13 = 728
Alternate:
Since absolute ratio of the numbers and HCF of the
numbers are given, the LCM of the numbers is 7 x 13
x 8=728
Answer: (D)
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(Ram a + Ravi) x 24 = (Rama + Ravi)
x 15+ Ravi x 16

Rama: Ravi=7:9

Let number of days taken by Ravi be x.

16 Xx24 =9 xx

128
x == days

Answer: (B)

The ratio of A's and B’s efficiency = 3 : 2
Let A does 3 units/day and B does 2 units/day.
Given, A can complete the work in 10 days.
So, total work = 10x3 = 30 units.

Time taken by B = total work — 10x3

B’ sefficiency 2
Answer: (A)
AT.Q.
16 CP=12SP
= CP/SP =12/16 = 3/4
Profit on 3 articles = (4 — 3) = 1 unit
Profit = 1/3 x 100 = 33.33%
= 12D = 6P
= D/IP =1/2
= D/P =0.5/1
Since the profit is double that of discount,
cp SP MP
- -
3 1 4 05 45
Discount % = (0.5/4.5) x 100 = 11.11%
Difference = 33.33 — 11.11 = 22.22%.

=15 days

Answer: (D)

Income Expenditure  Saving
1000 750 250
122% l l
1200 950 250

Required % = B0°750 100 = 222

750 75

= 262

3

Answer: (D)

The expression in the question can be written as
follows:
1 1

\/22+(\/§)2—2x2\/§ 2-V3

Rationalizing

We get,

2 +/3=2+1.73

=3.73

Answer: (A)

Ratio of given number x and y,
X:y=4:5.

HCF = 16

then the numbers are,
x=4x16=64andy =5 x 16 = 80.
Sum of the numbers = 64 + 80 = 144.
Answer: (C)

Ms. Revathi borrowed Rs. 600 at 6% per annum
simple interest.

Simple Interest =

Principal x Rate x Tine

0
Simple Interest = 60225"4 = Rs. 144

Required Amount = Principal + Simple Interest = Rs.
600 + Rs. 144 = Rs. 744

Answer: (D)

The problem will be solved, if either one of them
solves the question or both of them solve the
guestion. So required probability will be

14
_3.,5,2.2.3 2 532
_5'% 375 573 ++5
3+7z+6 13
~ 715 15
Answer: (C)
Given,x+y+z=10
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106.

107.

108.

109.

110.

111.

112.

Fb:-

=> (X +y+2)?=10?

= X2+ y? + 72+ 2(xy + yz + zx) = 100

> x2+y?+272=100-2x15=70

Since, X3+ y3+ 28— 3xyz = (X +y +2) X3+ y2 + 22—
Xy — Yz — zX)

=10 x (70 — 15) = 550

Answer: (D)

Total number of outcomes = 2% = 8

Exactly two heads = 3(HHT,HTH,THH)

Required probability = 3/8

Hence, the answer is option D.

Answer: (C)

Symmetric Difference of two sets:

Let A and B be two non-empty sets. Then
AAB=(A-B)U(B-A), is called as the symmetric
difference of A and B.

The shaded portion in the Venn diagram represents
the symmetric difference of A and B:

A B
We know that the set representing the shaded portion
in the venn diagram is the symmetric difference of A
and B.
Given: A={1,2,3,4,5,6}andB={1, 3,5,7,9, 11}
A-B={2,4,6}andB-A={7,9, 11}
= AAB=(A-B)u(B-A)={2,4,6,7,9,11}
Hence, option C is correct.
Answer: (B)

V45 -v54 VI9x5-VIx6 3V5-3V6

V20-V24 VAX5-VEdx6 2V5-2V6
3(/5-v6) 3 .1
2/5-v6) 2 2
Answer: (D)
Let the marked price of the product be %100.
Then, the price after all the three successive
discounts
=100 x (100-8)% x (100-15)% x (100-12)%
=100 x 92% x 85% x 88%
=100 x 0.92 x 0.85 x 0.88 = 368.816
Discount = 100 — 68.816 = ¥31.184
Discount % = (31.184/100) x 100% = 31.184%
Answer: (C)
Radius of small spherical balls = 0.7 cm
Diameter of cylindrical container = 7 cm
Radius of cylindrical container = 7/2 cm
Let number of spherical balls that dropped into a
cylindrical container =k
Volume of kspherical balls that are dropped =
Volume of cylindrical container up to 5.6 cm

=>k><§><nx0.7x0.7><0.7=nx§x§x5.6
=k =150

Answer: (D)
7k 5k
LetX¥ = 7k ytz _ Sk
z 2k x 4k

Since, z =2k and x =4k, so y=3k
x+z 4k + 2k

Ty T 3k

_ 6k )

=35 =

Hence, option D is the correct answer.
Answer: (B)

Here given that

h

113.

114.

115.

116.

117.

118.

119.

120.

8 | Page

then the value of :
3

1 . 1 1
(a+—> =a +—3+3(a+—>
a a a
3 1 3
a +;=(5) —3x5=125-15
=110
Answer: (B)
Given: Wrong average of 30 results = 30
~wrong sum =50 x 30
= 1500
According to question,
Correct sum=1500 — 33 + 73
= 1540
540

1
Correct Average = 0

=30.8

Answer: (C)

Let income of C = 100

Then the income of B =100 + 24% = 124
Income of A =40 % of 124 = 49.6

. _100-49.6
Hence required percentage = Ty
x 100 = 101.6%

Answer: (D)

No. of sides of a regular polygon
_ Sum of internal angles +360°

180°
1620° +360°  1980° 11
180° ©180°
Answer: (B)
Total Players = 300
No. of player(Cricket) = 22% of 300
=66
No. of Players(Basketball) = 9% of 300
=27

"" Difference = 66-27
= 39 players
Answer: (A)
Total no. of players = 300
No. of Hockey & Football player =(21% + 17%) of 300
=114
If 21 hockey players were added
Then total player = 114+21 = 135
No. of Tennis & Golf player = (8%+23%) of 300
=93
If 9 players will leave =93-9
Remaining player= 84
Ratio = 135:84
=45:28
Answer: (C)
Total No. of players = 300
No. of basketball player =9% of 300
=27
No. of Tennis player = 23% of 300
=69
No. of player added = 36 (in basketball team)
Then total player of B.B = 27+36 = 63
So, the difference is = 69-63 = 6 players
Answer: (D)

n
Amount = P (1 +ﬁ)
When interest is compounded half yearly :
Then rate = 20/2 = 10%
Time = 2x 2 = 4 years

10 \*
A = 5000 (14+ =)
11

= 5000 (12)
=Rs 7320.5
Compound interest = Amount — Principal
=7320.5 - 5000
= Rs 2320.5
Answer: (C)
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121.

122.

123.

124.

125.

126.

Fb:-

A
B
C ] E
[
8
Given is AE = 32BD
AE/BD = 8/3

We know that AACE & A BDC are similar triangle
ASince BD//AE)

Area of ABDC/Area of AACE=Aside

BD)?/Aside AE)?

= A3/8)?

=9:64

Mental Aptitude Test

Answer: (B)

As, food of the house in prepared in the kitchen.
Similarly, food of the plant is prepared in the leaves
(by photosynthesis process)

Hence, option B is the correct answer.

Answer: (A)

Using the clauses , V is at the bottom. There are two
phones between M and V. The number of phones
above T is same as the number of phones below V. R
is just above H.

el v) I

<

So, Mand T are above R.
Answer: (D)
Option D can be drawn as:

P(-) —R(+) ———(Q)

Therefore, this figure suggests that P is sister of Q.
So, the correct answer is option D.

Answer: (B)

Today is Friday + 2, i.e., Sunday.

Tomorrow will be Monday. The Day after tomorrow
will be Tuesday and two days after Tuesday will be
Thursday.

Hence, option (B) is the correct response.

Answer: (D)

Total number of days from 4th July to 15th August
= (27 + 15) = 42 Days

Number of extra days = 42/7 =0

(remainder)

Thus, day on 15"Aug will be (Tuesday +0)

= Tuesday.

Hence, option D is the correct answer.

Answer: (C)

After observation, it is clear that, answer figure (C) will
complete the question figure after placing it at the
guestion marked place.

127.

128.

129.

130.

131.

132.

133.

134.
9 | Page

15

Hence, option C is the correct answer.

Answer: (B)

The logic is —

(6-53=13=1-(9-5)3=43
=64-(7—-4)3=33=27

Therefore,

(13-8)3=53=125

Hence, option B is the correct answer.

Answer: (A)

According to the given information,

B's wife husband is B himself. So, A is the brother of
B. Thus, C and D are sisters of both B and A. This
clearly shows that A is the brother of C.

Hence, option (A) is the correct response.

Answer: (B)

Minimum Possible diagram is-
students

observers

Conclusions:

I. Some students are observers.(it does not follow
because third statement given in the question does
not imply that some students are observers.)

Il. Some observers are not students.(it does not follow
because many students are not observers.)

Ill. Some observers are listeners.(it follows because
Some listeners are observers.)

So, Only conclusion Il follows.

Hence, option B is the correct answer.

Answer: (A)

Pattern is-

+2 -3 45 -7 _+11 _-13
G—I1I—F—>K—D—>0—B

Hence, option A is the correct answer.

Answer: (A)
The series will be,
18 +8
1 A
+20 +28 +36 +44 +52

195

35 63 EE) 143
1 = L |
+

Hence, Option A is the correct answer.
Answer: (A)
Crash landing without heeding expert opinion is
dangerous. Pilot should look for a safe landing site
and only in case of emergency and when no other
options are possible, crash landing should be done
and pilot should always listen to air traffic controls
advice and alerts.
Answer: (C)
Logic is:
Original sequence: 4, 10, 20, 34, 52, 74, 100, 130
First differences: 6, 10, 14, 18, 22, 26, 30
Second differences: 4, 4, 4, 4,4, 4
Missing number=52+18+4=74
Hence, option C is the correct answer.
Answer: (C)
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135.

136.

137.

138.

139.

Fb:-

Statement:

1. The total of the ages of Ratan, Imran and Nadeem
be 27. (its alone sufficient.)

Let the present age of Nadeem be x

So, Imran’s present age = 2x

And Ratan’s present age = 2+2x

According to the question,

X+2X+2+2Xx = 27

=bx+2 =27

=5x=25

=>x=5

So, Imran’s age = 2x5 = 10 years

Statement:

2. Ratan is older than Nadeem. (its alone not
sufficient)

so, Statement 1 alone is sufficient.

Answer: (B)

From I:

It alone can not answer the question as there is no
sufficient data present.

From I

It also alone can not answer the question as there is
no sufficient data present.

From both | and II:

Let Age of guna = Age of vinay = Age of Keshav = x
years

We know Arjun is as old as Vinay and Keshav
together.

Now,

2X+ X +x =32

So,x=8

Age of Guna = 8 years

So, Both the statements together are needed.
Answer: (B)

All the alphabets of the word are replaced by their
opposite letter according to the alphabetical series
and then arranged in the following pattern.

M O B I L E

Y LNV OR

Clearly, MOBILE will be coded as YLNVOR.
Answer: (D)

Here the question figure is correctly embedded in the
answer figure as shown below:

Hence, option D is the correct answer.

Answer: (A)

Letter |P|S |Y|C|H|O|JA|N]J|L]JE
Code |! | @ |# || % |™ |&|* |<]|>
CANALS will be coded as $&*&< @ .

Answer: (B)

After observing the given question figure, it is clear

140.

that option figure B will complete the given question
figure.

Answer: (C)

When the paper is unfolded it will appear as:

Step 1:

Step 3:

O o0
o
O 0O

Hence, option C is the correct answer.

Direction (141-143): The logic of the arrangement is as

141.
142.
143.
144.

145.

146.

10 | Page

follows:
Each letter in each word is replaced by the next letter
that comes in the English alphabet series for
example: A is replaced by B, H is replaced by | and
S0 on.
Each number given in the input is replaced by its
twice and then one is added in that for example
54 is replaced by= 54+54+1=109. All numbers are
arranged in this fashion. So the arrangement of the
given input will be as follows:
Input- bvgr ktwq 64 96 18 36 11 rexv cgby asdf
Step I sfyw 193 bvgr ktwq 64 18 36 11 cgby asdf
Step II: luxr 129 sfyw 193 bvgr 18 36 11 cgby asdf
Step llI: dhcz 73 luxr 129 sfyw 193 bvgr 18 11 asdf
Step IV: cwhs 37 dhcz 73 luxr 129 sfyw 193 11 asdf
Step V: bteg 23 cwhs 37 dhcz 73 luxr 129 sfyw 193
Answer: (A)
Answer: (D)
Answer: (D)
Answer: (A)
Contagious disease is spread from one person to
another by direct contact. Typhoid is a contagious
disease is not deductible from the given statements.
Therefore, only conclusion | is true.
Hence, option A is correct.
Answer: (C)
The position values of the alphabets are used where
A=1, B=2, C=3 and the reverse position value are
also used where Z=1, Y=2, X=3 and so on.
AZ, BY, CX etc form a complementary pair. Such
pairs are used in the above series.
BY-DW
HS-JQ
Hence, option C is the correct answer.
Answer: (A)
From statement
D’s weight is 40 kg
C’s weight is (40+10)= 50 kg
B’s weight is (50+20) =70 kg
A’s weight is (70-18)= 52kg

. . . 40+50+70+52
Their average weight is ——————
=53 kg
Thus, statement | is sufficient to question the given
question and statement Il is not sufficient to answer
the given question.
Hence, option A is the correct answer.
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147.

148.

149.

150.

151.

152.

153.

Fb:-

Answer: (B)
After carefully observing the figures given in the
question, it is very clear that the question figure given
is embedded in the answer figure(B). It is shown as
given below:

Answer: (D)
After carefully observing the figures given in the
question, it is very clear that the question figure given
is embedded in the answer figure(D). It is shown as
given below:

Answer: (C)
The reflection of the question image will be like —

o) T

= =

Mirror

Answer: (A)
+6 +6 +6 +6
' v R
AZ GT MN SEH ¥YB
i 4| i
-6 -6 -6 -6
Hence, option A is correct.
Answer: (B)

After observing the question figure, figure (b) will
complete the figure.

Hence, option B is correct.

Answer: (C)
AN SW ER MY SO RE
X X X X KX
TT \l‘iﬁl l]lfl YM OS ER
|

NB WT RF 1|1'3; D’II" Esl
Answer: (A)
@ pen

Sharpener

Conclusions:

I. Some pens are markers (It follows the statement)

II. No marker is pencil (It follows the statement)

Ill. No marker is sharpener (It does not follow the
statement).

Only Conclusions | and I follow

Hence, option A is the correct answer.

Answer (154-156):

154.
155.
156.

157.

158.

159.

11 | Page

1) Six persons stayed between M and G.

2) R stayed on odd number floor but not on third floor.
3) H stayed immediate below R.

4) More than two people stayed between H and G.
CASE 1

FLOOR PERSONS
8 M

7 R

6 H

5

4

3

2

1

CASE 2

FLOOR PERSONS
8 G

=

6

5 R

4 H

3

2

1 M

5) P stayed immediate above Q but below N.
6) O stayed below R.
(Here, case 2 will be eliminated and we will continue

with case 1)
7) Q did not stay immediate above G.
FLOOR PERSONS
8 M
7 R
6 H
5 N
4 P
3 Q
2 0]
1 G
Answer: (D)
Therefore, option D is the correct answer.
Answer: (C)

Therefore, option C is the correct answer.

Answer: (D)

Therefore, option D is the correct answer.

Answer: (B)

Only a proper justice system can establish peace in
the society. Thus only statement Il is implicit.

Hence, option B is the correct answer.

Answer: (B)

According to the statement, it is possible to pass the
examination given that you work hard.

Thus, only assumption Il is implicit.

Hence, option B is the correct answer.

Answer: (D)

As the statement B says 'likewise’, it implies that the
phenomenon by which leaves change colour with
season is a law of the Universe. Thus, the conclusion
| follows.
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Il does not follow as the statements do not point out
similarities between humans and leaves; they simply
suggest something that humans must learn from
leaves.
Hence, option D is the correct answer.

160. Answer: (B)
This is the original figure according to the question.

A 6 B
Now as per the conditions given, we shall get the
following figure.

—r= 6 C 6

A 6 B
The distance between A and B is 0 meters.
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NIESMUS

...Aeeps you ahead

TEST FORM NUMBER BT &iF 400
INSTRUCTIONS TO CANDIDATE B I : 160

T ;120 e

O3 BT E B | Ul EEIRgd Qe @ S | US|
1) 39 gRa®T # 160 U B, W1 & @1 IR wmit 7 a2 |

AW- (1) @ Hindi Language (40 y=9)
AT- (I1) @ Law/ Constitution & General Knowledge (40 y=9)
- (1) : Mathematics (40 y=7)
AT- (V1) @ Mental Aptitude Test (40 y=9)

(2) 9 T Ifard € 9T Hed dRIER 3F g |

(3) Tl Bl FA HRAT URW B UgS AP $9 YRABI BT Sl SR A1V MR I8 FHARTd dxar 9y & gad a+f
U IURYT € 3R BIE IS HH AT el gl el © | 3R 3MUPI 39 JRAGT § g QY Aaar &, a1 Mudl gia 54
ST BT |

(4) o o & TS P T 2|

(5) 3MUPT FRIeTd gRT SR GRADT AT | & SIYHT | MUBT T DI & AT URA™ B | U 30T M, A Fe,
X AWM /3l SR /IRIET BT A ITR-YRADT TR FEaEFIgdd GRT HIAT BT | AP ITR—gRIHT § FeiRa e
TR AU BXIER AT BT BT | $91 (I8 &1 G @RE o e fhar ST @nfey, fasd! 9 & IR i ITR—gR<aw!
BT i el fhaT ST AR 3UPI ‘' b gl ST |

(6) TR bad URTSA AT =P /Y I 99 gRT Sv— GRAST TRIATS T =T & AT el Bl ) a8 <l XD
e S @nfRv |

(7) OMR SR gRA®ST &1 o A0 g1 STren SR | It foedl Reafdr % Suater SMar, smaes ud # &1 i1 SiHaRT
31T Uril A, A5 J7dEd BT 3Mded R B AT SR |

(8) fierd o rgAf Ao & a8 & B URIe el BIe AHT 2 |

(9) SWRIh H ¥ Bl N e &1 gured a3 H fAwd SHIGaR &I SUYwh dRiaR! /ST & oy STRarR) |\t off
AT T

(10) I STedl 81 W A Sleal 3R A | Ul & SR < | B FdTdl Hiod 8 Adhd 2 AR I A 8 Fabad
g1 folt o wes R Sarer wwy qEl faand |

(11) AMEd B AR TRIREH AR IYDI, Wl Hel /FH H R a8 9 UfERd 2| dig W1 Mdad 30 AdIsd Bl a1
P IR WOR UGN Bl §¢ BIb Y1 30 YT —ai X Ahdl | 98 BT Sooitd B W 3dedh & fdvg Stad
HRIATET BT SIRANT 3R SHHT 3ded T AR fhar 1 dadr g1

(12) STR—UF R D3 6 HF Al &A1 SEr @iy |
(13) ®1E W SFNGIR T¥elT QT B | UgS UNIE $hel el Bl dHhd ¢ |

g d% 3NUH Ig NIEVT YRASGT @ie B - Hal WY a8 dd J @]
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10.

Fb:-

U =T8T U1 {3 B9 TTY-91Y I8 | 19 &1 9e 71

(A) TE TP (B) THTAH
(C) AHJTATah (D)

13U 70 a1 & forT Ugerd 81 arel we fdehed &1 g
T8 HId Sl THhTA Hiadl H H HA 81
(A) gofd (B) TETH A
(€) ITH (D) 3BT
9 & @ 1731 o ST RIS -

(A) IR (B) fagw

(C) HRUT (D) S&H

45 P fg<l A PHEA 37

(A) Tef (B) UTE e
(C) TIUA (D) Tarei

(5-9) fufafRaa e & muR W UMl & IW
difor

e PP Al ARGl & UG DI SR 304 814 | U
N, 99 dF S &1 T§ ¥U HOW, SRATHIAS R
3 &1 @ 31d: §H 39 G 39 URIfAH I
T B B DI HRA! MMeT | ST AP WG -
Hrg, 3o fawrar 3R rorifae arm=Igt & firet fea
ST 91fRT| ST dp BHAR S BT T g, Tieis 3
370 oA TUY fhar 3R IT6T IRT IUy (e ot
HIGT TR 3MUTRA QT S0 AR sifewn &1 o §
Fafey fUd BT I, Jab] HAUl| Igid ST
IRI Saq Faieg & forw guftfd &2 fean 3 s faia
Y| I fHddt off UBR & Ferm a1 RYiddr &1 amEn
g faran| IR iyde Rl & faaRY & g1 ok U
AT & a1y wt f 3rgAT A1t TRE T8 | 33t ueR
o1 I 3 b TR H faordt 81 Wb g1 e o
P1 Sitaq Al T TSRl & 77 ¢ HHadl & ol I8
3T B 3R ISP Hiaw F o T IRom|

374 § g1 favwor fea 82
(A) TSt = 397 RaaTe duy faar
(B) 39 URIfA% Ish | Jod X
(C) 37 3IER 3T b1 31 B
(D) T 3= faiid &

399 ¥ gy | fAffd weg -1 ®?

A) X (B) D
(c) faem® (D) SR

37 Q PF-9T Vsg TR BT IaT6R0T 781 82
(A) IR (B) 3=
(C) HadR (D) THINI®

\3RATHTIP" Teg H 378 J T 82
(A) TR 3R gAY (B) T 3R IUF
(€) IuT 3R U™ (D) IUf 3R TR

0 3 gy fa=wur &1 o 6t garm 82
(A) TG} ATl B (B) 3 fawmar
(C) AT BT UG (D) TS URUM

S-S @NT S 1T, 9999 s wedt Mt g o
T g -

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

23.
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(A) TIERAES 49 (B) FAotaras gdam
() Fisrara® g (D) TSNAAS HG-H
BT 3T TG GHF 1Y SIeit | I 6T 39S g |

(A) TE I (B) TBAD

(C) SIRIATE D (D) Thdars

TR US| 3HTegT WUS' & A I HH-

1 1o FEferd 87

(A) TER =T (B) TRHTS =

(C) GRTS 34T (D) T IR
TRk & Ig1 "R R o938 Riem 31 M oig
.............. 3 tfeaar feg S1-T 1§ 82

(A) IR (B) BTHTH!

(©) o (D) T1hd

"E 8, I BT IR VI HH-I1 8 ?

(A) $B (B) 1Y

(©) 7t (D) &

qudl Ueg BT R gl

(A) TURGT (B) dUzal

(C) TUTH (D) Ut

T T3 b TEat IYP WM TR o Weal T IUTNT gl
8§90 dgd gl

(A) famur (B) JaH

(C) PRD (D) fomam

IS A B -

(A) T3 $a g9 T 1T

(B) 3 Had O &4 JUT dTfgT|

(C) T3 Hadl &9 IUY TTH e

(D) T3 9T &9 ¥UT dhad dTel|
SIS Weg T T 37 g2

(A) U DI 3T (B) 5T b1 3T

(C) T & 3T (D) TR BT 3MT

9 W SyFE T H Bl ygia fad
yfafe sgdt o @1 8

(A) T (B) Uddq

(C) g (D) UgdH

o) & TAUYH UHIRIT U &1 9 ©-

(A) FHITH Uit (B) IAUS HIAUS

(C) W&t (D) TR} TRt Ut

fafafad & @ 39 fdecy &1 999 B o '3 g1 &1
YT WA BT YeTar BT 31 ad HRal g

(A) 3T 3R A BT UG FAMT

(B) HETTTS T Gl

(C) HISATE BT I B

(D) IR YFFT

TRT 1 G T B
(A) 3T (B) fu®
(RIS (D) IR

BHATEIE P Uddd bT T &-
(A) g da
(©) HHTR UrSd

(B) R UIeH
(D) STIRIHR YIS
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24.

25.

26.

217.

28.

29.

30.

31.

32.

33.

34.

35.

36.

Fb:-

TETaR! &1 Tg o J firam pifore-

1) -4} TG (a) TgT ATYH G G
2) SET AT (b) U YT BT

3) IS BT (c) PadH T

4) Sfcaal IS (d) TS IR 7 G

(A) 1-a,2-b, 3-¢, 4-d (B) 1-d, 2-a, 3-¢, 4-b

(C) 1-b, 2-a, 3-¢, 4-d (D) 1-b, 2-c, 3-d, 4-a
IRkl forfr  forar ST 1

(A) TRIB (B) TR

(C) Sfamelt (D) ureht

o1 deAuT Rig & gRT fog ufiicet &1 HureA foar man?
(A) TeTaSoT (B) 3¢ AIUS

(C) TIRY 3RIIR (D) Ut fgatt

"HETEN" Teg § I4-91 AN 87

(A) Sgdiie T (B) FHYRY T

(C) Tg2Y THY (D) &5 U™

4 T U wssl § T SraudiyIg GHT BT 90 Hifou|
(A) UY-qug (B) 3fTSita

(C) gSHaR (D) UidT=eR

fu Tu g o (e Y@ifdhd g B T A1 DI
TG P YT BT qUH BT §gd &l Hid ¢ |

(A) Targ® I (B) AfFIaTass Tl
(C) YTadTdIdh Tl (D) FHGARIS I
fFafafad recl H P 1 eg Wil 872

(A) &1 (B) BTl

(C) =IRHT (D) 7@

=8 & UuH TIPR B-

(A) I Riavdre Riarfe=:

((ISKVEIN]

(€) HRdg BRY=

(D) STEAPN Hg

AWt @ -

(A) &I (B) TUIST&H

(€) RasRt (D) IS

frafafad fdeedl # @ fbg fawey & o wee
Hfdqardes T8 52

(A) I, ITARTHFY, TR (B) HT, HHE], WS
(C) TGS, 3, §6IUT (D) HHdI, ddbid, Tddh

"I HIST T FUAT" fhdep! T 82

(A) IHERY BTt

(B) o1 @ e RyaR e

(C) STURIHR TG

(D) YU AR Uigg

e T o Waa

(A) TATff (B) 3ifdre
() Tt (D) gHeRif
o auf &) TR ) TETIaT ¥ Sl o § 3%
Pgd g

(A) TS (B) TR
(C) Sret (D) TTHTT

37.  faudid ordf &7 sty YA a1l Tsg B ped B

(A) TTaT Tsg (B) faohw zrsg
(€) TuFTd® Teg (D) THIISF Tsg
38. frafafad & & ad-t &1 =P I HH-I1 Usa 3R 77
(A) I=ad (B) S
(C) seEfd (D) T

39.  ad ®M 8q fau M fawent & Sfd fawen gfu)
B ... FId UMM g8, Fifeh Ieila ITD! ........

31 g B
(A) 30T, 3[Uef (B) 31U, IUeT
(C) 3JU&, 3rUem (D) J0&T, JUET
40. oI B B, TR foett| Rad =i 8g 98
famed g1
(A) TP (B) oI
(C) JaT (D) ar

Law/ Constitution & General Knowledge

a1. iy 3R TebT aA gl [
(A) BT a1 e THH el 8
(B) Ao 3 H I g
(C) 3ced R & U T IR el o
(D) IR I BIHR AT Bl &

42.  TARH (NRC) &1 YUl =9 HT g7
(A) 7TFA AL RA 3 Ricte
(B) ARTd Mo 1t R4
(C) A=a Rapre i Ricorw
(D) A A BIS el

43. gﬁ%rrmﬁﬁ,g@ﬂsﬂm%mﬁ%mw

(A) SIRTSIUTA

(B) HRd &

(¢) fecett & dlzal & afvug
(D) SWIad H A P13 a1

44, gﬂ?ﬂua—sﬁmupo%&ﬁﬂﬁ,wmm
(A)%rm115 (B) YRRT 120
(C) YRT 120% (D) YRT 121

45.  SMIYRA W0 SR STy SHWd $1 g I8
ST & ford T=NeH & Sid &1 3T Foprl § qiet

T 8?
(A) 42 d GeF (B) 44 d T=NeH
(C) 89 o TRIeA (D) 93 d TRMeH
46. WAl TIH & SR 3EAN 3figied & R |
IR egT T81 &1 T3 ot
(A) Fiifaa Tareif &1 afewR
(B) fac=f axgsft &1 sfewR
(C) At feam
(D) fafewr IuTfert &1 T
47. ﬁm‘%@ﬁ% T § ford T fo wfa & w0 d Frgad fean
T |?
(A) A TR (B) 351 g1

(C) 35T Y01 Ui (D) g 94
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ofafed § 3 o1 o e § 4 781 & o4 | 59.

48.

49.

50.

51.

52.

53.

54.

55.

56.

57.

58.

Fb:-

= figia & sifafvad o Fc)-
(A) 3T=5G 335 (B) 3=5¢ 350-A
(C) 3G 338 (D) 3¢ 351

fhet *RR BT SR wreht Stee § 7fdd &t St 60.

21 1a TR A g ST Hgi uran Srdr |2

(A) ISIH (B) PIRT fareett

(C) & (D) HIHT 5

9 7 o W B9 -3 Ty T Teferd g2 61.
(A) THIR. TS HY  (B) 3MMs.3R. HIca! HY
() farett ufrg 9 (D) &1 Rigd g

TP ASAR ©;

(A) TP PR SFae

(B) T AT Sflgdsd

(C) T P TRfuf@ d

(D) T Uipfas TRfRUfias! o

fayadta & & 0 Aqurd &1 HRUTB_

(A) ufafe auf

(B) $B WU 3l Td S1ael Yo 3BT

(C) XMid arg U

(D) SWRiad gyt

62.

TG ... Y IR B B
%%%Trgcrﬁ,ﬁ-uﬁwah?%q&riﬁm$aﬁaw

(B) AHIHT 3feTef F TR
(C) Il FeA! § R1yufa & wgad Traed

(D) TOE & gt T Y=l gRT MUY UGl 63.

¢q fadu® & URd & IfduE & e Srfwig |
gfTfa fear mar g2
(A) 3FT=5G 109

(C) 3T 111 (D) 3G 112

Tt 1 31 g 2 ¥ B P SR AT MU e H A ¥ I
IR B! fafgd Hifee--

Tt 1 65.
A) 04 TRAT B) 10 ThRax]

C) 30 SHaRI D) 28 ThRa’]

It 2

1) fay gore feaw 2) 8T fagr feaw 66.
3) fay R feaw 4) fay g fdaw

(A) A-1B-2C-4D-3
(C) A-1B-2C-3D-4

(B) A-3B-1C-4D-2
(D) A-3B-1C-2D-4

HRd BT Falfed Sals R RUd garEargr &
(A) I BarSargT (B) fUIRTTG gagarg
(C) T8 BaTS3rg (D) BRI ARG 67.

fafiafed TaR IRl & ¥ 6 snye URd &1
fafar A g2

(A) a18 faferoy dfew (B) STBISI
(CEREISN

YRa & Fufafed 3 S Si9-91 R-gauwfe Fem 22
(A) SrTFr St o forg gty s
(B) SYfed SISl SRT

(© HHAYSGR ST 69.

(D) TG 3RINT

4 | Page

(B) 3¢ 110 64.

(D) ATE 3fiwmais 68.

YRdIg WU ot fbd Srfgel @ demadt Iror T

BT UG 87
(A) AT ST (B) TREdT SrIg
(C) T ST (D) SRESY ST

e faerfiq, e ot fafafyr & o et 3t
STl giclt ¢ | 98 faeIfEH §-

(A) faerfi= &, (B) faerfi St

(¢) faerfi &, (D) faefiA ¢

Tt 1 &1 2 A IR SR Ru MW He A A J T
IR &I fafed Pif--

Tt 1

A) ST MU 2021 (3N Taha)
B) %5 31T 2020 (Y Udhd)

C) SfRfT 3N 2021 (@R Tha)
D) Y 31T 2020 (T3Y Tdhd)

T 2@/
DEEICREIECERGIER))
2) ATt SfATHI(SITAT)

3) A% FeTd ()

4) Siffe Ree (siReferam
(A) A-1B-2 C-4 D-3

(C) A-1B-3C-2D-4

(B) A-3B-1C-2D-4
(D) A-3B-1C-2D-2

frofafad & 9 fem 9 oWld, 2021 & YR #H SU
TRE P Ugall Sz ST JTIY (ODR) BT
a1 fpar g2

(A) YReT Rerd d% (B) et

(€) fer s (D) T8 HATTd

IR A H [y T &1 Yo 9371 U8} &1 dobHSd 8?
(A) gt (B) gl

(€) WTa (D) o=

'2021 II3CS SIdCR (TS’ U H aTelt Ugall HRa
Aigd B & T8 82

(A) It IR0 (B) ST FHA & HRY

(C) BT ieht (D) HeT TR

BT JARIE' YR T9¢ & by 3o ¥ efdrd 87
(A) TS BT a1 I (B) TH< &1 Ygad I

(C) IC SISl B BUTs (D) IWRIad T+

gﬂﬁﬁ,ﬁ?@fam‘cﬂaﬂm"ﬂ@uaﬁwﬁyﬁ@%

(A) FTcH 3R HA

(B) 3NfS=m 3R ufyw e

(C) 31feT Te=T 3R deTHT

(D) BfaToT 3R feHTEw uew

T9 oliep JaT AN B ffaRed S SH UeH B
w%?$

(A) HRd o FUfd (B) 3feng, gUtTT

(C) TS (D) TETAHAT

1 FS WIS (BRO) b T HEIHaIS & w0 H bl
e foa man 82

(A) TS ToH (B) ofia Aest

(C) 3T it (D) =T ol

Foffed & 9 59 oiRigh e 7 ey R
FHHHD BIeg" R U1 Ruid 9k} Ft 82
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70.

71.

72.

73.

74.

75.

76.

77.

78.

79.

80.

Fb:-

(A) $THRFT T3 s
(B) TR faHr dF

(©) R gAfafr v fawr §&
(D) fay d&

fFofafed & @ fFae grRI SmuAea & SRE Aifde
PRI B Fdifad fear s e g:

(A) ST (B) 3= I

(C) Taf=r marerg (D) Xryufa

TS PHarery & % forg ST ST B
(A) ST T YT oI a7

(B) ST AR R YR

(C) TG T DT Y-I[GTd HaRIT

(D) S &1 JgddTs! Saa=IT

YR SR BRI T fguefa snar a01-2021
(VARUNA-2021) T 1997 TIH T T ud gl
(A) ST IR (B) 3RE IFR

(C) TI&mT 99 IR (D) 3fSHH IR

YT B! YUY DI et g2

(A) Tgufd

(B) G=HAT

(C) I TITTY DT T T
(D) T &1 Hared Ut

mgﬁﬁ%ﬂwﬁﬁw@ﬁﬁ?

(A) Hal (B) [t Hal

(C) TRTEC Hal (D) Uit HaT

1986 T TITRUT TR&UT g, HRa & Fafafag A

Q fobd 3MYaT & Gl STG ARG UT?
(A) HUTd T AT

(D) 3FH # a7 3R 719 R4
fafifed ° @ o9 HE-3sa Jaut ¥ Jefdd T8t 82

(A) TRGTRTT TANT (B) ISTHAR 3{TANT

(C) UBY S (D) HERRoH I

ﬁgﬁﬁmmmwﬁmwﬁ
?

(A) THd ANTRBAT (B) &= AR

(C) QI ANTRawar (D) ST AN

fafafed 7 9 fFaa 18 2021 § 258 IR AT TRE
R AL I?

(A) ST ar (B) Had HapT

() Rraitft ara® (D) 3 ST

e UR Tfem & fhaa UFT, 3rgede SR ST 47
(A) 22 1T, 395 &G 3R 8 ST

(B) 24 HTT, 450 TG 3R 12 YT

(C) 22 YT, 390 3FTWG 3R 8 ST

(D) 24 YT, 425 3G 3R 12 S

%ﬁmﬁﬁ%ﬂéﬁ&'ﬁuﬂ 16 HEISHYGI T Iouid
?

(A) g foew
(C) Tish

(B) 3R Aar
(D) 3ffye fUes

81.

82.

83.

84.

85.

86.

87.

88.

89.

90.

5| Page

Mathematics

T T Ueb Ueh-fagls | 80 fob.#ft /et bt w1 &, g
P TH-AUE U 50 bl /mer® fd § dur A
YT 100 b 7t /der @t 7ifay @ @ e o § | o amn

P IR IGe! 3Nd Tifa (fp = /gier ) om giefe
(A) 75 (B) 67
(C) 66.66 (D) 76.66

BgHm?
(A) 2/3 (B) 1
(C) 4/3 (D) ¥

3 TEmel o1 TWAHT® SR TTHITH HHT: 84
AR 2131afe ) Gomsl b1 U 148, @ IHY

Temsf 7 § ged T I-I1 J1d B

(A) 12 (B) 48

(C) 84 (D) 108

TS YRR 5% D &S B R I Ul

17,640 TUU 1 &I A1 foheat H gobrs oIkt §] IR ot
g Y e ol
(A) Rs. 32,800
(C) Rs. 32,000

(B) Rs. 32.200
(D) Rs. 32,400

IR (x - y)PI60% = (x + y)P145% ARy =
X BT k%, I k BT 21% TP sRTeR &:

(A)7 (B) 1

()6 (D) 3
Ix6+24+8+5PB2-30+4BT4+27 x5+ 9]
T 1 B2

(A) 647/40 (B) 493/8

(C) 259/8 (D) 243/8

TF e & UM & 14 gy SRt SR 12 afgen
FHARI 81 HHARA! ST g Bt dod d AUNT B
TeRid & & ol fhaa IR § faumT ¥t g=y
FHHIRY 3R TH Afel HHART B AT o Jabvell 62

(A) 168 (B) 120
(C) 145 (D) 180

e A P 3T B BT 3T F 60% HH ©, dl B BT 3T A DI
3 Y fan ufawrd sifde g2

(A) 80% (B) 120%

(€) 150% (D) 40%

30 BE! B HeT H, 16 Fedrd U dd & AR 18 drat
Id UG AR §, GF W fbd- B B UG 87

(A) 4 (B) 6

©8 (D)3

T A 21 %, # U {hdig SIdl g a7 g1 &7 o
Tf=Id T Bl € O TRATIAR 4 Yo & SRR @, ot
fraTe &1 58 e (& ) T &7

(A) 30

(B) 70

(€) 30 9YT 70 GIAT

(D) ITd &1 fopaT St Thal
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91.

92.

93.

94.

95.

96.

97.

98.

99.

100.

101.
Fb:-

U AR AFTd e ¥ 60% HAH TR 30+ A1 Bl
3ifpd BT § 3R 25% B e Al 31 ITBI AH
Gfc=Td J1d 7
(A) 30%
(C) 25%

TH TaaM | A T B Sdl &1 B0 4:1 ogurd & g1 3G
39 Ao B ¥ 10 dex FHTam 396 R |R Ia-! &t
e ® 9 B iy faar S, dr fisor &1 siud 2:3 71
ST qEMER AdaH & ARG Hyor § g3 A 3T
T faa o

(B) 20%
(D) 40%

(A) 20 TR (B) 10 ¥R

(C) 16 TR (D) 15 R

TIfora, fae SR S H 3N siw 72 g1 g, eﬁsﬁ
AR SREm § o oibedadl e SRE™ W
3feh 56 B, 1 IO & 3k T §?

(A) 78 (B) 88

(C) 80 (D) 91

PR B! A UdP ©e 2 fob Hi/der s¢ ot g1 3 8 o
ﬁajﬁaﬁﬂs‘gﬁrgﬁnsﬁsﬁr% @ PR B URIYS T
7 a2

(A) 84 & Hi/dier (B) 72 fob Hider
(C) 96 fo5 i/t (D) 80 f& Hi/gier
Tfd 2A = 38 = 5C g1 dl A:B:C T ER?
(A)2:3:5 (B)5:3:2
(€)6:10:15 (D) 15:10:6

3 et & U 7: 138 SR SHdT HE.
(HCF) 8 §1 SF&T @Y. (LCM) &:

(A) 628 (B) 782

(C) 872 (D) 728

T 3R M TH B B4 H R HR THd 7
3 15 a7 & o Hrf #vd & 3R T 31 SIS <t 3| M
9 B BT 16 &7 H T Bl 5] A 31had 39 B B
forem fo & 1 IR AhalT 87

(A) 120/3 days (B) 124/3 days

(C) 126/3 days (D) 128/3 days

ADT 2 &l &1 sf B & 3 oAl & 1 F KRR B
g AQ B 10 &1 & TOTT FHR Favan g, dIB B
ST AT B H fbam faT @i

(A) 14 f&= (B) 15 a7

(€ 12f&= (D) 16 &

ﬂﬁma?m HT ARG T 12 g3 & fashd g &
12 I3 IR BT 6 TGS TR ATH & SRR
%|wnqﬁmaaﬁzﬁfuﬁw$aﬁauﬁmaﬁg&m
T P2

(A) 22.22% (B) 11.11%

(C) 33.33% (D) 399 9 P15 gl

TP AT 3T 3 B 25% ST g1 ITB! 3
H 20% Y gfg Bt & 3R e +ff a8 Ued F e &
I BRAT S, Y T Aufawdgig R

(A) 253 (B) 24

(©) 25 (D) 26§

102.

103.

104.

105.

106.

107.

108.

109.

110.

6 | Page

(A) 1.2 (B) 4.1
(©) 42 (D) 3.7

3 TN 4 5 & ofud H g1 Al IS HegH
JHTIGD 16 @, oY 31 & TBTait &7 TNT fabe=1 gITm?
(A) 144 (B) 124

(C) 160 (D) 150

ot YTt A 6% Ul I & YR A W 600 U
YR oWl 4 a¢ §1G 98 Fol gHM & g o T

(U ) BT YA H3N?
(A) 700 (B) 150
(C) 744 (D) 144

A F HI Uy B 87 B DI WRAHT 3/5 8 3R B B
I UY D) B B DI YR 2/3 21 Tl a) U B

A B ¢ Al U & 8 &l oH ! Wil aargd|
(A) 11/15 (B) 3/5
(©) 2/5 (D) 13/15

g x +y +z = 1OGthy +yzZ +zZX = 158, a3 +
y3 + 23 — 3xyz BT A Jd B2

(A) 660 (B) 525
(C) 550 (D) 575

gfe i e Riaen! B T Iy IS8T 9T &, d 3l
31 3T 3 DI Ul T 82

(A) 3/19 (B) 8/13

(C) 4/17 (D) 3/8

HAL A ={1,2,3,45 6 3RB={1,35709 118 a
98 T F1d Do o A9 & 7 epfd b wraifed
T & STl 87

(A){2,4,7,9 11}
(©){2,4,6,7,9 11}

(B){2,3,6,7,9 11}
(D) {2,4,6,7, 9}

\/_ «/_
(A) 15 (B) 15
©1 (D) 12

4

8%, 15% 3R 12% & dH HAN e & A THA

B
(A) 17.5% (B) 68.816%
(C) 35% (D) 31.184 %

frear 0.7 Fex @Y B MaABR Ta) &Y 7 TR
I & T SR U | ST ot g, forad $& urit
BT 81 39 MATHR e b TS J1d B3 g 39 I o
STA TR ST 9 W 5.6 YSTHICR 9¢ oll?

(A) 130 (B) 240

(€) 150 (D) 250
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111. q%ﬂ%sﬁ?yxi:s%,a‘r"yi BT HM F1d DY ?

z 4

(A) -1 (B) 5
3 (D) 2
112. TfiTa+a' =58 Mad + a3bI AH Y H I R
(A) 80 (B) 110
(€) 10 (D) 140

113. 50 URUMA &7 3 30 uReferd far mar Ut dfe a1
o gg ud1 I & Tl § uRepad & IHT 73 & dod

33 9 foran T T, < It Shd T g e
(A) 29.2 (B) 30.8
(©) 316 (D) 34

114. T A DI 3T B BT 3T Bt 40% 3R B B 3T C B M
Y 24% AP B, A C BT 3T A BT 31T T fobaa ufa=ra
3 87 (SMMUHT ITR ST & Ueh R dh Tel el

ELRY
(A) 104.2 (B) 75.6
(C) 1016 (D) 50.4
115. U% afid 9gyYs & SR vl &7 i1 1620° B
TEYS B YT D1 T 1 B |
(A) 12 (B) 9
(©) 10 (D) 11

= (116-118): = fear a1 g -=7¢ wawans wRfsay aas,
¥ fQarfedl &1 ufed faqzor cwiar ® @&fte Qe @
300 faare! §)|

Number of Players

: Golf

Basketball

= 17

Tennis Hockey

21

Football

116. fpdbec 3R TBcad fRAeTSal & i 3R F1d BIfore?
(A) 38 (B) 39
(C) 42 (D) 36

117. ! U4 Heald Rafsdl & Mk ud -y faarfsat
I U TG B, TR 8T & 21 ey et

SIS T 3R 9 S faenfedl 4 =g ois fa|
(A) 45:28 (B) 28:45
(C) 81:67 (D) 84:133

118. Tdead 3R Y I & o9 iR 71d P afg
T3S WfeuH # 36 Tpeald [Raare! Sig 9d 82
(A) 8 Raarst (B) 9 faarst
(C) 6 faamst (D) 7 faamst

119.  20% 9fd a¥ &1 & 2 a0 & 2 5000 BT IHqfg AT
T g (=aTe! BHTE! TafeTd fahaT ST 8)

Fb:-

120.

121.

122.

123.

124.

125.

126.

7 | Page

(A) 2340.50
(C) 2290.50

(B) 2275.50
(D) 2320.50

AACET, B 3R D HR: Yoll AC 3R CE W fig 39
ybR € fHBDIAE RAE=1%1 BySBDCH

&S &1, IS AEC & & J 9T SIUTd 87
(A)3:8 (B) 8: 11
(C)9:64 (D)9:16

Mental Aptitude Test

39 fdsmed &1 Ig9 &9 ©l dRR Weg T I IRe Jafda

 OIY GO UsG UBd Veg  Haifdd g
ﬂ?:ﬁv_d:[::tﬁﬁ:?

(A) FcH (B) Ul
(©) Fd (D) XTI

T BH H, M, R, T 3R V TH-gIR & SR W §, aAfe
3MaRud T8 b 3 HH | 811 7Td W I Bl Bt
BT, VP Y T B B TS P GHH GIR HP
p IW @ 81V IeH Ji9 [ 81 M 3R Vv P o #
A FAWE R A AP A BT RS IR W

27
(A)M 3R T (B)R 3R |
(© M 3RV (D) M 3R H

A+B &1 31 § A, BHI 951 81 A+B BT 31 § A BHI UIS
21 AxB &7 3 § ABHT U B A +B FT 31f § A BT A
g g Yo wHdy cuiar g f& p, Q@ g 82

(A) P tR+=Q (B) PxR+Q

(C) P+R £Q (D) P+R+Q

g ofid Hd J Ugd BT & YohaR o, dl 3 a1t e
F §I1E & G fard 916 HIF a1 fa grmm?

(A) IHAR (B) T¥AR

(C) [HAR (DIEEIN

HTAT BT TG 4 JaATs HTAIR B g1 Al ST &7
S 15 SFATRA BT gofl AT ol IUT qu S{eT BT FHG
e & fovd foet ghme

(GYICEEIN (B) YehaR
(C) IFER (D) HITdR
B A IR BT T B F U Bl G HRf?
?

(A) L. (B)

A :l

W
© (D)
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127.

128.

129.

130.

131.

132.

Fb:-

aﬁgﬁ«l@ﬁﬂ%ﬁ,ﬁﬁﬂﬁﬁﬁ@fﬁ@r@ﬂmmw
|

aé ga
X

(A) 216 (B) 125
(C) 36 (D) 343

ABBH TR B UABTIHE G CRD, BB T8l A
BT C T 7T ISY 87

(A) TS (B) {1+t

(C) Uil (D) Sfg

fau U HYT SR el ) e QUS| g8 A gU %
Y H & T TFBR II B, W 8 g8 9HEId: I1d
Tt & I faRur w0t 81, a8 vl o fe few e
et § ¥ o9 /A ey U TN ST BT difhe
T Y IR BT 8/8 |

DY-:

1. 9% B, A8

2. 5% 4l Thae®
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fufafed gae & oI @1 3feR uyarEd fag (2) B
g B

G I FK?,0B
(A) D (B) N
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T 3rgepd o ma B, R § ue ue qw 8 R e
fasedl & ¥ 98 gl fddbey gAY, S S IhH DI O &Y
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(A) 99 (B) 77

(C) 85 (D) 98

Az Fafofead oy & s sy9 Rar § e 2
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I THg Y T HRAT AR
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|
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(C) PYT 1 315 TaTd §
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| T, fa71g 3IR = wuft ot org o B

I 70, pea @R o B g @1 AT 32 ;WY
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(A) BYT |1 3P T 2|

(B) ST HYT Ueh WY 3TILTD B

(C) TT AN 1 4T 11 3l T B
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e Ue fAf¥d de U & ROCKET &I XLIGVP & =0 H
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=

I egiine %

Web :-



https://www.facebook.com/tesmuseduserve
https://tesmus.com/

UP_SI_2024 TEST ID - USI - 887702527

138.

139.

140.

s (141-143): T sg JUT T ATRIT AR B o1 d

Fb:-

= =
(A) (B)
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v V.
O
A A
) (®)
O 0 O
o O
O O O
(© ©)

qYT el & TP §IYe AT o ol § df d
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e
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(A) Fad | Frspd Tl
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(A) SR (B) QQ
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PIS T I?
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(D) T | 3R 111 SR R &

(B) YMOSER
(D) YMOTES
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T FHU dd B dd J&IT 8 IA™T TN 210, RP
IR Q

G 3P FW TSI IHT 8 H IR G S ST ar ¥ 34w

AT TP g1 R fqww T areft 7o R Tp1 8 dAfp oY
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(€) T8, S 0 & i HiSd SR Fb1 8
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‘Jﬁw
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11 1T §1 3! foU U B B II AT R, WA &1
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(B) T Had sguron || FAfga g

(€) afe T <t sraurom 1 T8 e §
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FYT A: U G111 IRG Bg & 37+ TR A 3T & g
1 Ry 78} B 5
Y B: T UBR, AT &I i sgrie & a4l ¥ 6t

NSRRI
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NEGIERE] (B) Had Il

(© Tt 13RIl (D) Had |

@7 IRa A, B 3RC U THEE RYSTHR Udh & IR
3R 3T RE Y WS ¢ BT A 3IRB MR T 3R ¢ e v
U 8| U U& H1 AT 6 HeR 8] B C & afa0r-qd & @eT
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TBAMES ded-o arad § gadl ® 33T, HIEHI,
3efiate anfe &1 UG Udhe BT 8, I SWAES alad
Pgd gl

Answer: (D)

98 Hid off ThTd Hiddl S H HRA 8 I &
T T TG - SRS a

3 faded -

goid BT 34 - 33T 1 IqH Hid

TRIH I BT 31 - ARTHT ST AT

Answer: (A)

0 T el & IR Weg SUCH IR R
fdwr-fa + 3w

IRYE - W + U¢

BeH - 35 +TH
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& & 13 100 9 B AR @t & T & v
Jaferd Wfsadh WU I &M H I19d gU &R HBT Pl
T 3YH Teg U g1 45 B <t 7 UdTei Pgd g
Answer: (B) f&d TR T & SIUR IR '3 UIRI[dH
Teh I o P H T’ Weq raAIHD AT g1 T
I g S T T U AHR T Ve Y fA=wor
5 aRg faxivar ga1d €, 3 e fARiv Hgard g
Answer: (B) 38 T Treal § '$od' Ud § fAfHd Wrsg
g 5 39 + TP WS B YA J ¥ § T TH'
TY T 21 U TeE & 9D (I § 98d § e
U Tea & 3T (Gd) FSdl 3| AW fabed SRATA B
Answer: (D) THIN&" g TfY BT ISTERUT gl &l
m%%%wmmmmma+@w
ERikd

R fJhed WOR &1 I [ 91 + 9R, 3id &1 $ifd
+ 3 3R YEMR &7 q + MR T

Answer: (C) T & SR RATHIAS Teg H IUFIH
3R U M | SHH WHE' Td TG, '3 JUW 3R
3" TId g | AN fdhed 3R

Answer: (C) &8 T TR & SFTHR 'S1fgH BT UiGAT
o foRIvur &1 yhiT gt 83 § Siesh IRIG HRB DI
TINT g1 & | Tral Al o, M1fes fawar ofik we TRom
=0T T RN g B
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TIRIATES T - ford Ta-m ¥ fheft gk 9d s I
Trey R fobaT o, I8 Freydrad 9o+ Hed gl
S —oMgT-99T, S-4|

I BT e 3 B-TasT a1 i fedt I &
R H dieH a1 g b g T b ™UE W ugad g1
I Teg Y HEATd o | oF9-gd, T, H 8nfe |
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TRBAMAG ded-foF g | dadl & 33, HIEHI,
3mefafe 31 HT1 HIG Yabe BiT 8, I8 SHIaED A
FEd g
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SIS & ORAT I T B '3HTeg] WUs' & A I o
AT 81 39H HBIST (S.U) & IR 3MegT 3R Hed bl
FRaAT P YT, IR U F 3y 3R A YW & gad
QUG B Tl b0 IR AT B

1865 . § ATeH 3ferge 3 forg ' 31Teg] WUS' &1 YHRH &
7 YT, 98 AR TRERT R 81 3nuiid 81 sW ufd &
YR TR 3T, MR &1 A TRAT 9" HT 16 AR
U fhar 3R I ANRY v=iRoft JHT § UhTRId B
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Answer: (B)
fRufif & I RRR W o Rrer & 2 sig g U
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IR YNIG ¢ | HHEEH SETEG! g &1 garad fgal 7e
HTH | BT Bt IG11936 5. B UHIAD g3
SRR TG -
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C
SRR UG b1 7 - O
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FO U Usa! & 3 B T F RIF R T G
PR IGPT 3= FolTT ST S g |
SIY: JU - qufiEt
3 q -
foiiT - O3 & 59 ®U @ Afad a1 a¥g &1 R A1 716
STifel T sy g, I ATH § AT PEd B
i - o U3 reat ¥ G S HT &Y il 8, 99
JdaX, &Y, dh, AdShI)
AT - o T Weg F W Sl BT Y B 8, I
AT Ped &1 @TaT, I, giel, Hioan, seiar, R,
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U S WM R TG g a1 Wed DI FATH Hed
%l@ﬁgﬁmqmﬁ$mmmmm
STl
SY- ®, q, T, MY, 98, 9 oG |
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fqu T fawedl § ¥ g3 $ad o $UT AT a6 Y
S &, 3 fded g 71
Answer: (A)
G T Teg BT T 312 - U Y 3T BT & 3 faepey
SRR Weq, & TET 3f TSR |
3 fapeul & 3ref -
S I 3N - FSaid
T &I 3T - qrEd
Answer: (B)
Ul 91T - 4R R 3Ny JAS H Ud=H @ ugi
ﬁmqﬁﬁqaﬁw@%

gad &1 3 - Ugd BT, ST

TaTH BT 37 - faRIY &0 ¥ g1, HAT

yaraa &1 31 - g 3, e ST
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Jad AIaus f§d) &1 UuH THRIR U UT| 39PT BT
307, 3¢RE 3. H Pl A T Jded 0 & & d

R g3 T
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'3Te T PT UG ATGH BT GgTaR &1 37 "HieTs
1 T 8T B

HETAN - TETaX’ &1 3 Sierdrd &1 Yol § Hicblad &4
3 farddt WTa P! Uahe BT ST ]
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|
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YA Ud, AeTed! 991 59 P YRT & Uiy id
A S €| BTATE AR BT AT THeeR Tusy o
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BT 31~
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2. ST T - Hefdh TR
3. 97 BT - F& IR A AT
4. SfRTGT IS - S e T BT
3fct: faehed (d) TEt ITR BT
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TR T HRAO fafy 8 e eMe YRd Hwg
U1 B fageh yred ot e €1 wg o ¥ o fordt
STt 81 SR H 52 &R A 2
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Ul RRa THRIR U3 & ures e wen Rig 31 e
err Rz 3 3MRT ¥ gonfRdd Ame tw uF e
TUT P & I, NUgd AR M Ap~aay &I
3fgarg it fopar | Irom gHUT Rig 7 RydR < &1 BRAt
Trearaalt gad fiet forem &t ifa &1 foakly faram) 3619
< Rl foram &1 e feram
Answer: (B)
AT - AT BT a8l & — IfSBUT| ST
feaep 31 BT & BleT U U wid al AT al ¥ 3ifde
Teal Y fAreiepx ST 17 3R BieT Yog, ST & 39 X DI
JHE PEd 2
HETEIT &1 GAN g - T & o glu
(FHYRY JA)
PHYRY THNY - 98 JAN T ugdr ug fagimor ud
TR U fa=rs giar § srar Td IRUE H SUAM
%WWWWW HHYRY JHY STl
|
Y- AETET H 310 3T Thd § b €0 & 7eF g b
fIRIYAT FaTs S 6T © ik Tg IaTexUl HHYRY WHN
& Sfcid T |
Answer: (B)
SERAYTE THT & UgaT 1 Yaug Siaad gl § 3R 39
1 3 YU BT 81 310y & AT I IHIAUG HY 3/
§ 1T ¢ | SUH gaUE WU BIdT 8| SoqiiHId 9a &

REARRUI

* JTSTH: o T AR

* gyHfd : Afd & AR

« gfafe : faq-fiem

* 3TSita : Sita HR

Answer: (C)

Ygarae I - o Weg Al W wm uerf @t

AR, TYT T HIG BT §1Y I §, 37 Usdl Bl

YIgaTa® U Hed g |

i U, gerd1, Hierar, fiew, 34T, 9ars, gavd!
|

ASTHET B Yardl BT g BT dgd &l Hio 8 |
Yerdl Teg ¥ Y 1 & UId BT a1y B @7 g 3k
Yexdl T HIqaTae T3 Tec g

Answer: (D)

T S BT Sy PR ITdd Weal b AT TWeg HEA B
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T Uec, Tl TG BT SNy PRI & 31 77, TWAT oa
|
Y- TASHT BT Wi ‘ASH! B

Answer: (B)

fH & UuH TWHR dwqed § Il UHE
T TR 81 URdg sREs T wifed & wuH gu
YRAG T & Udds 3|

Answer: (D)

Yiadrad T | 93, §e, dC I 3fd gH e Iemd
WA I 31

fRaert - iRl

Answer: (A)

fopaft off fa=iv =afda, avq o1 M & A1 &1 91y A

Irelt TS Afdaara® T Hedk §159d fid -

feT , ®IF , uioft 31 o1 sy fbar Sar g1 I,

ITERGHE 3R T g cufdiaTas S ©.

Answer: (B)

FW'W'%%WWH@W
|

Tfe, R0, sfaem, Yia enfe fafdy fawt w

3TH U 3y TP 3] I Bl o Riavarg 3

Te1el # Fraferad e Sgd URig §-

AFaYHIR

IR BEER]

SRS &1 HIaT

fareipy

ST HIS T U

gfaer faftR e

Sdret g

TAHE-IH (SMTHPBYI)

fofy gra=h ufdde (1868 %)

Answer: (B)

3P VGl & TP TMeg :- YW H B3 sl & WM WR

%m%&:ahamsn HIST I UHTGRE Td 3ThNdH

|

fores o $@ oft 7 8 Y 3ifdhe FEA B

3 fapedt & 3ref -

wiff &1 oo S oA fgd & aR H Wrar @

el &1 3 S gt B gHE P A S@ar |l

el drgarel &) WA HEa g

Answer: (A)

fou U et H a ey T § Hifd o &

IR {81 TR & 81 fooan S|

S T BT & - il 9Uf WRI ! Jeradr § §id old &

3I2 o Ped ¢l B S b IR H 3 TR A

BT 81 31 & 1 &S &1 I=RYT 16} 81 Gl

FI-H,9,7T,9,F
gf-49,9,9,9,9
Tq-T,3,8,8,0(33T)
daf-d,9,g, 4,4
Uq-U,%,9,4,H
A -9,3,d,d
IH-U,¥,9,83

Answer: (B)

Tl 2reg &1 fAudla a1 Ieet 31 1 aTdl Weg Y faeH
YeE HBd ¢ | GUR Neq! H HYT S dl Th g¥R & AUl
1 et 31 37 91 e, fadliH Peard g1 3ra: faas &1
3 § et T faRielt 3ref & ara |
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38.

39.

40.

Answer: (C)

ot BT 34 - gat 1 37 I U H Wregf F Ui
Sffireged B 1 fspaT b ped B

FEW g =P ¥ oY ek 5| TEd BT Y& ¥4
FeWfd 8, og ut o+t wgt 31

3 fadhey -

e 1 34 - ufer, Jar

FHartEt o1 31 - wfar == g Wi

Ioad P13 - e, WD

Answer: (C)

1 B IJUEHT bac SHIY §3, Fifch IAsila JHDT (UM
Y gfaam Bl

Answer: (C)

S &™ R, Iat TR et g § foaH-
I Real o SINY favegl &l diell H G SamT off g7
B 3 fawpe ¢ Tgt grm|

JIERARS FaaH - o9 TaqH et BT gaT foedt
TG 1 Afed BT T~ FdH & g fHar 9Y 9 g
YISR/aTIP Ja-TH Hgald o

S - O-99, St-3gt, fSramr-Saqn, S 3nfe

Law/ Constitution & General Knowledge

41.

42.

43.

44.

Fb:-

Answer: (B)

G 3R UHT a<it A | a9 e, smafy ok s
ERIECE]

S T TIf F T

a1 i SoTl &1 T = § St Uerd & 60 & BRI
BT 81 U fagyd FEaig Sl ¢ o fagga ik
YD 1T & & W1 ST P PRI BT |
Answer: (B)

- TR BT gUf =Y I ARIRS AR (National
Register of Citizens) I %I

« 1951 I SIUMT & §IG 1951 FUD| SH T & [o7g
Ugell 9R JIR far T T

- P AAIRS IR (NRC) S FH WG ARTR I
P Th AR 8, NHd T amiRedar Sifafam,
1955 3 2003 P N gRT 3Fard 1

Answer: (B)

1991 & 699 FauTHe TN AT 3 Fx wWRia
yew faeelt 1 T IRy ol gar far, SR 39 g
IO &7 fcedt o bR & feomga fvan ok Rt &
UIN® &I dftede @fGede) TR & ¥q § g
o 399 et & forg e faum wun ok Oyt o
T IRE 513 | U, foweht o uep Ay uRvg ik
TS SRR g |

Ay 3t drewd 70 vew Rulfa &t 78, forg i
AN GRT AT ST 81 TA1G T GaTa YRd & gA1d
TN GRT foan St 8 1 faum™ QT Iy it 3R Tt
Tt & Wt At W S S Tl ¢ Riar Ioa gt
& dF AHdl BT BISHR, Ul Aae-e ST, Gierd
3R YfHr| AP, TOE & S FUHIHT §RT 91T 7T
HIA TR ST 8 7

TR &1 Ukeg B diehd [AUHTYT &) $d didbd HI gl
gfaerd €, Tl 9Id - U gerE ok B8 3 WAl
qerHE B fgfad Igufa )1 &t ol © SR
BRI g | 3=y Hidl B G-IHAl Bl Gellg W

ERT g fordn STl & | Pufd BT w1 IR WAl

# Y5d 31 HiuRve Imfed wU ¥ [ymay & ufa
JREr gieh 5

Answer: (C)

TR HIFT=T &1 &1 URT3H & Siiid Jnfira fosam
7 31Ul URT 120% 3R 1209 3R S MRS weai

45.

46.

47.

48.

49.

50.

3 | Page

oI gRUINT FRar 8 b - o9 & a1 &) 9 34fde =,
PIs 3dY DY, 3YdT, BT TN BT Sl 3y el 8, 1Y
WA gRI, A AT PR D JgAd Bid §, a9
TeHfd SRS Yed= Hearn gl

Answer: (C)

-89d Hfae™ T=Me SHAATH & gRT ryfad Sfaar
AR SgRIT SFadt & T Sgad i SmET B
SET-3fer et # fawford foa i

« 1950 ¥ A 2020 dF HRA & WAy H 104
e gU B

« 420 Tfge™ SenyE Siffaw & i didum & Tu o
Y ST ST ©, 59 URATaHT § AT YHARUe SR
THdT X! Pl SNST 3R TwbG 51F Bl Alfeid Haal
& ¥ ¥ ST T Y 2 AR 1976 § AR fbar
it

- 4391 Tfge™ =Y

oy 13 3fia 1978 ¥ @R fbam T o1 SR 3¥H
IR gHitem &) fFaal & Fard UAeE R I
T & SHABR &F P F8Td B faar o1l

. 44397 dfay G AFTH 6 RideR 1978 ¥ AN
fpar T o1 3R T 3T U9y & dgd
I fagie’ 3 ‘3iaRe rifa’ e Bt T A |

< YRAg "y @193af Iy gy Sifdfaw
20 ARt 2006 ¥ A1 fban T AT SR SR WEHR &
I1y-ry Aot 3= e IR 7 o fUss o &
fore 27 ufara emRemr e foan

Answer: (C)

o T TUH P SR 3EEAN el & AR &
N f&aT o1 U e el Bt ot

o TAFAT JUM P SRM AN el &1 fauR
TR Fareii & SR, faeeft axgef & aewHR iR
fafew Swfat & rergwd & uRGaT B

o TGN 3G 31 3R 1920 B Y& fobaT AT AT
Answer: (A)

+ 3t Qe Y 3fid 2021 H Y fow wfe & U H
g faram i

* 3d 2021 , dHed &1 fgfda affa @i = faa
gRyg & *Uu A fad Harea & g faumt & afyg & &
AT B IR B ) Hedl ¢ R

* 3Y Ugd 9 o0y faumT & g U

* IR ORI YT UTS & R WR UG UgUT fobam|

+ At DAY 1987 ST & AHATG HeR b ALY
BRI B

* g |, fda SR yRa » g dfi F =ud @
IRA Bl

Answer: (C)

Y™ & ur-Iv & e et & sifafved $9 o
few, Ifaym & 3=y H wfird 8-

70 ¥ Ugell, "TH.I. 3R T 7 el & e grar
ufd UM XVIT orgwye 33581 QuERT, "HIGHTST |
fAder orufd WFTXVIIE 3®¢ 350-A 8 SR AR,
fet v 7 faeery Srufd 1Rt Xvil H S 351 §1
3G 338 P SrIYfId Wfd/ SrIgfad Senfd
AN & Fefd g

Answer: (C)
foreht SRR 31 3rafie wreh Seae & urs Skt 81 78
ST TR § T BT § S BRI & AMNE & i
3 A §1d €1 1T 23 g TURGA B1d 7 | Sifom g Y
T UG T ST B

Answer: (A)

TSR W d1E, 1994 7 3gwe 356 § e iR
TH TN R $B Ufdael BT Icera far Tar |
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51.

52.

53.

54.

55.

Fb:-

Bad 3 ey e & P I PR Bl
TG PR P e FRO& T 21

bad ® P51 T o5 IPUT BT S(oe IEEIWOM (SO
g A &) & 91g & Y9g & 9t Fet gR
SHICT RIfdd BT TN =1 AfR T

9 a®, 3farad + Pal, Fad fau™ gy ¥ Iefda
Ty & U@yl &1 Fdfed e [y Iy B
fcifed B Tpar 2

fayr gv1 &1 fage Ay ©u  gmra 91d 2

3IPT ITANT Had I RF W fHar S =1y S8t
U IUINON & eI Bl UK HRA & [T aAD
REEIRCIRIEC!

Answer: (C)

TSR & HHY U o ¢ ol I7% gRT §91/
a7 31 39 Ukt o &Y quf wer S § afe san
mefadl & fda & o @it meayl Sfew sk
Hifde b 8l

Answer: (D)

IWIFd BRI & faATdl [y P Faide I 1d gt
et oA Seet fayadia &5 & st § o 98t #Y
AJUAT DI HH HAT gl 9P SMfARad HEEERI
YRISHT GRT YT &7 I a1 T W o off Jers
gl

Answer: (C)

YRA &1 TYg (YT UTfefaTie) YR S8 Pt sagITuewT
o1 ar e 81 78 fue-ia sgawi 31 URdg 9
T ¥ j1yufd auT 4 Fe-

ABGHT (@RT BT Te) TS ASTTHT R4l 1 uRue) g
A5 YU F U TG S Al A S il i w3 g
AH T RIFT B 31YT ABTHT DI HT B &1 Y
g1 YR T &1 Jara Y9 Ha | g1 gl ot fob
T3 ol A fUT B | IT9HT B 3= U1 Ud AbgHT
! AW e FH7T1 1T 8| IR I8 Had HIGR A Hel
ST 8| i HReg T3 & Pal off ApgHT & forg
Y e vd I 9T & ot S U e &1 JaiT =
RICRIRIEI

Answer: (B)

<o Ads B URd & YA & orgwe 110 H
IR foeam T g1

- 3T=ye # o fadae Pt fawga TRy R

- 399 78 Wt Fg1 T § & 9l a1 < w1 adE &
foe Yo SRIUUT a1 R WieR gRT RIF™
TS & T @I T #RI & 7 § U6 S B
¢ fa8e gl A1 STe |

- 3Twe B $el T § b P Adus u fAdgw g A
8T, U8 99 B & AT A IHT & FHUfa o1 fFofg
3ifaw grm|

Answer: (B)

Iy SR Gaw ufdad 04 BRadt &1 & TH™T O B
39 faay & FH &1 32T SN sl 3R 39 T9RI &
IR | Bl B HH HRAT g

Ty Tare g ufday 10 Brad &1 & 7=/™1 9l 2|
39 a9 &1 T & 3¢ ded $! UGAR $I dgrdl
1 31 gl SR 2016 B SHARTP aTd I8 iy faa

T
Ty ¥ feaq ufaad 30 T8 &1 gt 1w o 31 39
oo & M & I AN & o T AT B AR
SRl Thel 3R D! ABUTH BT 8

28 BRaY), 1928 H1 e & URE Wifow fagr W
FERRWR dbe AT A WF THIE B TS Bt At o
ford af 1930 & 3% Alod TRPR ¥ GG foham |
I & IUALT H 28 WA, 1986 T UAH aN 39 fo &l
T fag feaw & ©u & 7T o B |

56.

57.

58.

59.

60.

61.

62.

4 | Page

Answer: (C)
YR PT I &1 gaTs g1 I8 8T8 3T 6|
g TS a9 ¥ 10682 BIT (3,256 m) HW g
gals g & A 1991 flig] HNSG IHpa R & 1
TR 1 T § ot fRUge 06 gars & & 3ard | g
Answer: (B)
I gy I, ol a1 B drS Sagiel & A1 ¥ S
AT, 9 1848 J 1856 9 HRA & a-R S-RA & =Y A
F1d a1l I9% TSI & GRIF 1853 H, da3 3R
30 & §9 Ugell Yad dR9 URY §s a4 39 a9
HAGT 3R MVRT & o9 SAUTE JaT L= & T | 37
Tt Rt &1 T Fa ge, e [t faumr @
R 1 3T TS | WIS GURT & HRU Al SISt
&I YFE YR o1 Fafar o gl
Answer: (C)
. TSR TN (NHRC) 3R I AFARIGR
(SHRCs) duTR, TR daufe e g
1993 ¥ IO¢ & UH AAFTH AFd SRER
SHfAFTH, 1993 & W& & dgd RIfua foar mr il
HayTe R T a1 Fem § S YR iy |
IiRad far S g
Answer: (B)
o URGUY WfAUM &1 TRed! Igdl & dard I
TRA13{f IR UraY™ g
o YRCT TATT BT 57 ST BT 1992 H 739 Wfaer
=M AT gRT SIST T AT |
o U 3id $S HEAYUl fIvg Uard & wfaadl,
gt A, RIS IHeH, IOk, I8F iR Jaeid
affe
Answer: (A)
fFe® &t 12 & Pt +f S8 Sar 8.3 ue oa |
goRiter faerfi § of o iR dfeT 3 & ame
DB, MR Tad &b A0 H, Ayl yfireT Humr g1
g 313 o faer™= § § te 81 g8 I U J A
TRR & TP DR & Ty | i 2, 9y =
¥ e dzavy R e & gvifad @R ©,
dAfpT g8t B s Tau=y IR i wRie
TOT g1 9 @ Had, U, 3R 7 8 THR (T
afed) fertd & 12 &1 IdeT o § HaH g1 Pad
ST 3R nfhar # 39 Iwavu & faw smawus
TORH B 8 S s @ uerf SR &
Ygolid & HRU o 12 BT U Wpfae A & e
Tl 81 3R Tl IS ¥ ¥ wied fqerfe g
AR T PHad oAy fhuga-Iwawor & HeEH 9
3N TU § Ided fHar o1 ghar g

Answer: (C)

Sffefera g, 21 2021

gy Uh ol

faoidr - AiaTe ST @ fean
Jufaerar - 3fTd Agdea =)
Higel Tobd

faorar - e NPT (SITaT )
Jufaerr - SFAwR st

T 39 2020

g2y Uhdd

ICECIERPNE SN E)
Jufaeid - a1 Siwifad @fean)
gud (31U 2020

g Yebe .
foorar - it faw (seeferm
JUFIOIdT - SAdToISR Savd (S

Answer: (C)
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63.

64.

65.

66.

67.

68.

69.

70.

Fb:-

- FifS M 7 9 30T, 2021 BT URA H U RE B

gﬂ@ ffemed fewge YORM (ODR) §e§d @i
|

« ODR 3ETdd! & TR f3are) & JHTYH ©, Ay &g

B 3R AUH-USR & HHA! &1, f$iied doie iR

Jpfcue fdare THTYM (ADR) Bt db-ib! BT ITANT

PP, O & Sadia, veRar iR U9 Aol enfe &

GRTI

Answer: (B)

TeWld &1 Jepisd UR Hed H a9 991 TR

JehHSd B geid $I JebHST URAT & HH J

Qe B A H Aoled § SR SUDT gadbig Aot

TTHAT 18,000 TAT ATAH B

Answer: (B)

B Ffd & FRY DI 2021 ASES FAR 3ATS’ U

aﬂﬁ%aﬁug?ﬂuﬂ?ﬂueﬁvqmﬂ%wé?wﬁﬁ

T g

g RIHR a15cs Udc BrEeyH gRI faar

98 dT7ge R Y BR aseedm® walel (CWS) |

TR TREUT AP § |

2011 ¥ Pfd & SRY B A3 SAihed Aaset &

10,000 d SFIGHGIT & =Y & Fr1-d foram |

3= 2012 H XA SAUTthd SHSHT TH@RR & 0 H

AT 1|

32 2012 H BT gRT YR 1 Tfaaemen Afgemaes & ¥

T & &Y H g1 7471 1|

Answer: (C)

* gole XISl B BUTE U YUNTT 'BAdl TARE' O

g{;éﬁ?ﬁ%maﬁmmuﬁﬁwmm%
=oH fod dae & e 3R YEe HHAR!

a8 Bl

* JHRIE doic MYHITdl ST I8 & e di-3 31afy

B! YH3TA B! fAafgd Heal g, St ok § i st

S{ENT-YTHT Il ¢ 3R §oc & T9e § U 81 ab A1

i P § Edl 8

Answer: (B)

¥ SrenT 5 eIt e, gdl ae TeR, Hdrgal ek |

M 7t Seel R [Eard &1 IuhT B3 S H T

B e 3 Sedr ]l

Answer: (C)

TRYH P 3Twe 321 B I fobar T § b e o

T faumHsa grT s=mn T dis off siftfey gg

Wiep T ATANT TT T @b T SRANT GRT Y 71 69

BT Yareh & Fey § arfaRed B e o2 Fhar 2|

Answer: (B)

(BRO) & 27 d HEIHeRI® & ¥4 & fgaa forar man g

I8 1 fedsR 2020 Ut JaT URY P I|H

Wfteric SFRA gxuTd Rig &1 ®IF gul fhar g 8|

YRA YT & ¢ SOHIR-39-91% & &9 8 Fgad

foan e 81 gufer, fawed B WEt B

Answer: (D)

fay 9 (wB) 3 afémr wRmr enffe wieg wR s

Taw RO SR S 21

Answer: (D)

IPUMT GRT SUAHA & GRMF HIde USRI B

frcifod foar S aar 31 WRd & IgUfd &1 URT |

3MUTAHI & R Ry wfer & Iy f[Afed fbar

ST B YR o9 T aRdfaes 3R G0 T

§ ST g1 I8 YR o9 P ThIAS ARVl &l

g%m%l 3Twq F pufa @ I
O Bl 359 HRd

ST (TG 20 3R TS 21 B BISI) &

71.

72.

73.

74.

75.

76.

77.

5| Page

IRA At ARIBRT & Uad= & forg it ot sramerd
P RFART B & APR B Fdfead A &1
BR TAT B

Answer: (A)

TS BI-arerd 1793 H I & RIS Iog TaRT &
foQ oM o &1 a ffewr S 3w soit ok o &
iR & o o S%e Sfean Fut & forg ue Ffga
RGBT YT FA & dadl B T qHaidr o1 fors
qed SHIGRI @I dga H YA HT ATTDHM 8P [HaT ol
Sfl IR MUPR I 3R I SildaR] I oG Tebs
B BT HYBR MM

Answer: (B)

YRAW 3R iR 8 & fgueia enamg gour-2021
(VARUNA-2021) T 1991 TIH0T 3R IR H Jud
=R

Tg feuel snamg 25 ¥ 27 3Wd 2021 & MR
fopar T T

T W B, YRAW AT BT Add T SR
FHHTST I Teile NIR TSRS 3/ SR gRT fbar
T T

RN T 61 g HHSR TR B 473, R
TSRA AT SigSe A fra il

3y fguelig RfA® SN @ Beid 1983 # g% R
3R 3 2001 H ‘gL ATH fegr 7147 T

Answer: (C)

- YR FAUH & sffwsa 159 H ROy AT YfY B
I®E B3 AU I 30 P | YA B
Ugd BT 8N

- AU Bl UG P /GY I I AT & A
rTeRT gRT fgars e B

« AU & BT BT fAdg- B a1 UdP afad
34} IRE B WY 1YY HRAT &

Answer: (D)

Aoy 3R e gt & = pH 3rufd 8.5 I aifde B
rell frd) o1 diwg 7 7.5 § 8.5 §, 3¢ a1 A
1t Jerge Bt & g 7.0 F U B

Answer: (A)

1986 T TR g3 TafaRol TRef0T gy, widra
ISt & 1 uTiRd fovar ar T, o fob 2 3 fodeR &Y g
DI ARL G 1| I8 BT & GHT Sl JaY YAGs HHT
fAffa smuer Bt 359 T § Ay saNEaEs 1Y
ot Tt ot oA gOIRT T bt S o off SR Aral a
DI S / IRING U T 3f=ad &
Answer: (D)

HRRNSA FiHfd, AP e i § F&d 71 e
D &I Bledy, Y THI &I Hg-Iod daef TR Ry
P & o wuifog far mar

IRBIRAT 3ANT BT VYT 1983 H YR Bl Hg TWHR
GRT B T i1 WRBIRAT MNT &1 AR fafv
fumTt R Fg-Iog Ul FI S HAT 3R HRT B
Ay & gid H Seard o1 gHd ol |

¥ 1970 & AT PR GRT bg d Iod daelf W
TR F & o0 TeHaAR 9t &1 18+ fovar mar A
YRA WHR A 27 3{0d, 2007 Bl YRd & Yd T&I
et < Te Mg Yet B sred § HE -
Tl TR TH N BT 7o fbar o, fogd dg-Isg
et & T eI B o B 3 YRA & IIUH 3R
forary H fhu U 39 seadl & e H W@ T
2, S TRBINAT 3MENT A & TP U g-I1od o
e, | fhu 31

Answer: (A)

« YRAT T3 Thd ARG UeH Bl g
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78.

79.

80.

81.

Fb:-

%ﬁqaq?%whwaﬂ&mwﬁéﬁréﬂiﬁm@raw
|
« YR FfAETH BT U Il 356 5 9 11 b ARTREGl
J Gsfd g
« YRAT ARG U 31 & IR 1P & o7, 90, O
BRI 3R MIHfAHH|
Answer: (A)
gﬂfﬁ Iar 7% 2021 H 25dF IR A& TRE Hds
|
I8 UgH! IR 1994 H 24 A &1 39 T AC Tae
g faar ol
IR K-2, A-3i1g, A, @YUl 3R @i SRkt 3/
URYg Sifedl Rt 9gE o1 81
ﬁwaﬁmwﬁmmwﬁwﬁﬁ
|
I HIPT 6 fel H AT TR 3R AST ol &l al
8000 Hiex Tifedl W e+ ard Ugd HRdT a1
3 STHYUT U Hioid | &l IR HISC TR $I 9Ict Dl
g B aTell g BT Ugeh HiRe B |
Answer: (A)
<A YR TfauE T 22 UFT, 395 afwe 3R 8
g i
« YR AU YRA B T oY, erifFRUe, THTSare:
T, GHTAT 3R T T MHTE 3T 8, 3R HIZaR
P IGIaT < BT YA HRT &
- TfIYH BT YR B WU THT GRT 26 TGS 1949 Bl
SR foram T Ul
« YR BT AU 26 =T 1950 H ARL G
. UGS & SR, 1976 H 429 FayTHe TNy
AAFTH gRT a8 ¢ ywARUe Weal @l
VRIS H SIST 717 T
Answer: (B)
TR T ¥ Yael & T $T 3Fdle 8, 3 o
e & ufg fQurl & § drr 81 SR e &
BRI J=TEHS HH § &Id T Jad A 81 598
Ud B3 Xdlsd] & 16 HeToHUG! Pl e g |
fies & g5 @ WaRa 10 g9R g €1 T8 400
Ud & U IR § Ugell dig uRve & aR o
Y ST 8, S ST IR $ TRer 7, fiig Here vy
DI sregerar & Smaiford gs ot |
Tyw, fag Nes 3 g gas 81 98 961 8 g
P oA R Fuw g1 39 < IS ¢ - HeEwn 3R
FHEAAAT| TG §& P IR &1 qui +ff Sar g1
3flenw fRew Aftes 1 sifow urT 81 sy g5
P femsit &1 e Jbad g IR Afaqdl, gesi &
T & fom Afasan, afasm, 9 & Rigial @ gefda
21 U8 I Ras! § favira 1

Mathematics

Answer: (A)

AT Ha g3 1200 St 1
gofeHi/gieT ¥ 99 &t T3

T =1200/3=400fHH
sofdrHl/der & 0 &1 715 g = 1200/4
=300 foet

Ty g3 100 fpeil/Ee | 0 B T8 =1200-
400-300=500fdHT
aa?g%nﬁauwﬁﬁww =400/80
=5

300 Tt g HRA | & THT = 300/50

82.

83.

84.

85.

86.

87.

88.

89.
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=6 °c
500 fooH} T B H @ GHI=500/100 =5 b
ZIIT 3Nd a1l = 222 = 75 KM/HR

54+6+5
Answer: (C)

AMT x = 7/7 VT ...

31 Ueli 1 o B W, B I Bl 8 x2 =7x
U x = 7
3T, 7 = (343"
1=3y-3
y = 4/3
Answer: (C)
A <ifoTE i T3 x 31R 4x B
o
84 x 21

X X 4x = 84 x 21x?% = )

3d: TSI G- 4x = 4 x 21 = 84

Answer: (A)

YR & 5 AR = a0 AR ¥.17640 FT 1 I g4
AT + IHM T $17640 BT 2 IY d e, 3fa:

x =21

=Rs-

17640 \ 17640 ‘
5 5 \2

(1 +W) (1 +m)

=Rs- (17640 x 27+ 17640 x x—)

21 21
= Rs. (16800 + 16000)
= Rs. 32800
Answer: (D)
60 45
W(X—Y) = m(x+y)
TAPA R x = 7y

21 100
kWZl%—EXT—B

Answer: (A)
9x6+24+8+20f5-30+40f4
BODMAS e & =1 -
=9x6+24+8+10-30+16+27%x5+9
—9><6+8 30+27><5

- 24 10 16 9

—9+8 30+15

T 4710 16

_9+8+15 30 647

T 410 16~ 40

Answer: (A)

TBY HHAR! T & RIb| B AT = 14C1

Al HHARI T & Al B WAT = 12C1
3MARIH RIh = 14C1 x 12C1

=14 x 12 = 168 WP

Answer: (C)

T B B 31T 100x

dl A P 3T = 100x — (100x) x 60%

= 100x — 60x = 40x

31l Tfi=Ta= 22 % 100 = 25 % 100 = 150%

Answer: (A)

¢
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90.

91.

92.

93.

94.

Fb:-

Peard o B &1 T = n (U = 16
B Bt TBT oI arelt S = TF (@) = 18
P BH = n (AUB) = 30

N (AUB) = n (A) + n (B) -n (A )B)

30 = 16 + 18- TF (@N)

n (ANB) =

Answer: (C)

T oFHT = 21
g,grﬁcr%wwﬁwmaw: X

X x=21
AT

X2-100x + 2100 = 0
X2-70x-30x-2100 = 0

TR = 30 3R 70

TN Y& & AN Ged 30 AT 70 §
Answer: (B)

HHET CP = 100 T

MP = 160 0

SP = 160 x (75/100) = 120 =T

A = 20 T 9T

% @TH = 20%

Answer: (C)

Bt T

AT A: B = 4: 1

10T & 9IG T ol = 4: 1

B, A: B = 2: 3 gRI Ufar=Tiud

=46

g1 5 ST 101 S 1 1 — 2 F WS §
sﬁ?(4+6)*2 20

A V OR $I G AE §

fRu=4/5dtdt=1/5

I My 7 10 Hex Rl o & Y 95 37T Sl @,
@ U 2: 3 B ST

31 10 ofiex 8o & A 3R B &7 U = (4/5) x 10 3R
(1/5) x 10

= U HFT = 8 ofle”

= B DBIHNT = 2 Itr

ASMRBITTHITE (A-8) Itr 3R (B-2 +10) = (B + 8)
sttr
3141%111(@ 8): (& + 8) =
-8 3(“B=A)A 8 23(A_8)
B+8 3 4%+8 3
= ( )A———16+24;A 404
= 16ltr
Answer: (C)

o + faFE o+ SRR = 72x3 = 216 ... [0)
o + 3l + 3BT = 64x3 = 192 ....... (i)

() ® 9 (i) geM R,

TOT - Sfe™ = 216 - 192 = 24

M =24+ H

M =24 + 56 = 80

Answer: (A)

AT SR B URIHS Tfd = s Tl e

95.

96.

97.

98.

99.

100.

101.

102.

7 | Page

&R °e & TG Ty 2 fpel/der 5g et 3, sufn &R He
& o1 TE B g -

s foret + S+2) fott + S+4) fort + .
fopedt

YT B o G = 85 + 56 fobHl = 728 fobet
8S = 728 - 56 = 672 [ HT
S = 672/8 = 84 faHi/der
Answer: (D)
2A =3B =5C
23,5 BT TAHTA30E
30 30 30

FﬁABC—— 2 =15:10:6

Answer: (D)

dfe el ®1 FRUe sUM SR #HU Ry U
g GBI g 8 x 7 =56 3R 8 x 13 = 104

3, 56 3R 104 HTATT. = 56 x 13 = 728

df demeft ®1 MRUy oruE SR WU fiu U
g JOIi BT A8 7 x 13 x 8 = 728
Answer: (D)
(THT+T%)X24=(T5IT+T%)><15+T%X16
M@ =7:9
AT IS gRT fore 7 fei &t W x &)
16X%24=9x x

128y
Answer: (B)
A 3R B &1 BRI & BT U = 3 2
AT A, 3 gfe/faa a1 B, 2 gfe/fcd &9 axar 8
farmn g, A 10T d o @H R Ibar g
3d: HA HM = 10x3 = 30 IFT
al, B & BT gHTE FRA | fgT
- total work _10><3 ,ISE:{

B’ sefficiency
Answer: (A)
UATINR,
16 ARTd {4 = 12 fasha 4o
WA Hed/fdshd e = 12/16 = 3/4
3TN WA = (4-3) = 1
T = 1/3 x 100 = 33.33%
=12 BC = 6ATH
=>QCc/dYH=1/2
= @c /Y = 0.5/1
<ftp 1Y Be BT SR,

cP SP MP

- -
3, 405 45
BT % = (0.5/4.5) x 100 = 11.11%
3R = 33.33 - 11.11 = 22.22%.

Answer: (D)
Income  Expenditure  Saving
1000 750 250
122% l l
1200 950 250
Required % = 259°750 » 100 = 22
750 75
_ 562
73
Answer: (D)
gy o AU & ) 39 UBR forar S Teva B
1 1
\/22+(\/§)2—2X2\/§ 2-V3
T T B B,
2 +V3=2+173
=373
Answer: (A)
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103.

104.

105.

106.

107.

108.

109.

Fb:-

%E@Q@Tx@?yaﬂﬁqm,

x:y=4:5

HCF (Wg<TH qHIUd ) =
x=4x16=643Ry=5x 16 = 80.

TReAT31 BTN = 64 + 80 = 144.

Answer: (C)

gt Y&t 7 6% Uld 9¥ & YR AT TR 600 IUT
IR forw)

Principal x Rate x Tine
YR AN = =2 % 78

100
TIYRU TS = % = Rs. 144

Sty IR = gAY + HIUROT ST

= 600 ¥UT + 144 ¥UY = 744 34T

Answer: (D)

gfe ST A T BIS U UY B 8 B AT GIHI UY B g
H I UY A 1 S, < A=A Uendl g

YT **FHT / 100

14
_3.5+2X2+3_2_§§2
5 33 5 573 4+ +5
_3+z+6 13

15 15
Answer: (C)

ﬁ'qTTITIT%,x+y+z=1O

SX+y +2)°2 =102

=S x>+ y2 + 22+ 2(xy + yz + zx) = 100
=x2+y?+22=100-2x15=70

b, 33+ Y3+ B-3xyz = (x +y +2) (@ +y2 + - xy
—yzZ —2X)

=10 x (70 - 15) = 550

Answer: (D)

URUTH} & $of 6B = 23 = 8

foep@ & RR = 3 (HHT, HTH, THH)

TIRGH HHTGT = 3/8

THfeng, IR fawey D 71

Answer: (C)

gl Yl &1 9 iR

o e & A SR B @ oifted ¥g= §1 a9
AAB=(A-B)U(B-A), B A 3R B &I GHMT 3idR Hgl

Srar gl
9 AT H BHIfbd HFT A 3R B & JAMT 3R Bl
E{Qﬁ?ﬂ%:

A B
89 OFd 8 % 9 o o BEifed WFT & FAefid
PR aTel = A 3R B BT JHAT 3R §1

e g A={1,23,45 6} 3RB =
T-d =246 3RNA-T=7,911)
= AAB=(A-B)U(B-A)={2,4,6,7,9,11}

{1,3,5,7,9 11}

3fc: faded c WEt Bl

Answer: (B)

V45 -V54 VIx5-vV9x6 3V5-3V6
V20-V24 _ VEAx5-VEx6 2V5-2V6
_3(/5-+6) _3_1

T2(5-v6) 2 2

Answer: (D)

T IATE BT 3Hfdrd e 3100 §

110.

111.

112.

113.

114.

115.

116.

117.

8 | Page

T4, 9t HANTT dH e & 916 HIAd

=100 x (100-8)% x (100-15)% x (100-12)%

= 100 x 92% x 85% x 88%

=100 x 0.92 x 0.85 x 0.88 = 368.816

B¢ = 100 - 68.816 = 331.184

BT % = (31.184/100) x 100% = 31.184%

Answer: (C)

DI MATeR Tl B Bear = 0.7 It

SAIHR Fdi &1 T = 7 Jeft

IAIHR Fc o1 fFem = 772 It

Eﬂwﬁﬁﬁﬁwaﬁwéﬁqwaﬁqﬁaﬁ
=k

K MR TGl BT add S STl Sldl @ = SaThR

- BT 3 5.6 T4t dF §

:kx§><nx0.7x0.7><0.7=nx%x%x5.6

=k =150

Answer: (D)
x+y 7k y+z %

x _4k
?leﬁ'Tz ZkGﬁ?x 4k , HIOIT y=3k

.x+z_4k+2k
Ty T 3k

Answer: (B)
uﬁﬁmw%%(ﬁi):s
a‘r(a+§)3=a3+%+3(a+
3 1 — 3 —
@ +—=(5)°-3x5=125-15
=110
Answer: (B)
faam 2 30 Rl &1 Terd 3 = 30
-~ 7TAd R= 50 x 30
= 1500
TR,
el MR=1500 - 33 + 73
= 1540
1540
w\}ﬁ—ﬂﬁ= =?
=308
Answer: (C)
HHET C &1 31 = 100
TS B DI 3T = 100 + 24% = 124
ADI 3T = 124 HBT140 % = 49.6
3ra: 3y ufawrd = 122-%%6 4 100 = 101.6%

Answer: (D)

aftrg agys & Yomsif B e =

(3MT=IRes YN BT ANT+360°) / 180°
1620° + 360°  1980°

- 180° ~180°

Answer: (B)

Fd faarst = 300

e H RISl o T=AT = 300 BT 22%

= 66

Theaid U RIarfsdl & Tam = 300 &1 9% = 27

= 3R = 66-27

= 39 fQarst

ﬁﬁlz 2

3R = 300 BT (22-9)% = 300 P 13% = 39

Answer: (A)

$d faarst = 300

B! + Ppeald | Raarfeal &) T&AT = 300 FT (21% +

17%) = 114

%)WII'FT

=11
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118.

119.

120.

121.

122.

Fb:-

21 gl fFIarel 3R Siig 3, &t

P fearSl = 114 + 21 = 135

o o+ e H foafsal @ W@ = 300 &
(8%+23%) = 93

Tfe 9 fearst Bl ™, Y

o gu el = 93 -9 = 84
ST = 135:84 = 45:28
Answer: (C)

Fd faarst = 300

TRPBCTIA H RIS D Y- = 300 BT 9% = 27
< o Raenfsar & e
=300 BT 23% = 69

s T Raenfeal ot Tam

= 36 @Rpeard H)

TRdeaid § $o Raarfeal o e
=27 + 36 = 63

ZYOME 3R = 69 - 63 = 6 TS
Answer: (D)

W=P(1+ﬁ)n

e SIS BHTE! TaIford fhar SIran @
e = 20/2 = 10%

G = 2x 2 = 4 @Y

A= 5000(1 + 2)4

4 100

11
= 5000(5)
= 73205
Iehqfs ST = MR - FALT
= 7320.5 - 5000
= 2320.5 30
Answer: (C)

o D E
¢

8
feargsn®g AE = 28D
AE/BD = 8/3
B9 WM § % knowACE @R DC BDC T&h WHH fAye
§ BD//AE)
Area of ABDC/Area of AACE=Aside
BD)/Aside AE)?
= N3/8)?
=9:64

Mental Aptitude Test

Answer: (B)

S, TR BT @M fooe | saT 8

3 UBR, Ui T T ufiat § ST © (VTR IATT

ufohdr gR)

3(ct:, fapeu B WEI IR B

Answer: (A)

Tabdll T YA HRd §Y, V G A @8I M 3RV &

T H G BH W T SR IW Bl & G-, VEH

%ﬂ%@qﬂﬁﬁﬁ@ﬁwémﬁaswgww
|

123.

124.

125.

126.

127.

128.

129.

9 | Page

M
R

H

Vv

IR, M 3R T, R Y FW I &

S, faey A 981 SR B

Answer: (D)

fapeu S 3 39 USR T o bl 7
P(-) R(+) (Q)

3fee, U8 Siihsl daT § & P, Q @I 8T Bl

@, T8 S faweu S 31

Answer: (B)

3T YHAR + 2 §, T AR

& JHIR BT A P §I¢ BT foT HIAIR g 3R

HITGER & & fa S1¢ TeaR 8|

safey, faeey () T8t ufafhar 31

Answer: (D)

4 T8 ¥ 15 3R aP P el DT G

= (27 + 15) = 42 f&A

3ifafvad faf &t T& = 42/7 = 0 (W)

%!;”W, 15 3Rd @I fad @ @AR +0) = HIAAR
|

zafe, faeed D I8 IR 8l

Answer: (C)

3faciep & §IG, g WF g b, IR P (C) Uy FF

Il RIF TR @A & I1G T SHTHTd BT QR d|

3T, fapey C WEl IR B

Answer: (B)

T 5 TR 2
(6-5)3=13=1-(9—5)3 =43
=64-(7-4)3=33=27

3T, (13 — 8)% = 53 = 125
39T, fdey B U8l ST B

Answer: (A)

3 TS TSR & UK,

B P! Udl BT U B T &1 T, A, B BT HTE B
Y UHR C 3R D GHI B 3R A B 98 g
I8 WY U J A1 8 fb A, C BT TS &1
Tl fiwed () we ufaforan g1
Answer: (B)

TqH ST SRE § -

students

listners

observers
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130.

131.

132.

133.

134.

135.

15

Fb:-

. B BT, HdaD § (U TRV TGl Bl ¢ Al
vy T fegr mar HRRT By Ang T B § | 5o
BH, qhaes Bl

. $ Tded, BH 6l ¢l (@8 SIERU el Il §
i F2 B, THde®d T8 5 1)

IIl. $B Tderd, a1 | (T8 SRRl HRdl § HNb T&
oY, Tfaerd g 1)

3feTT, pact B 111 SFTHRUT T 2|
goferg, faded B TEl SR &

Answer: (A)

Ted 8-

42 -3 _ 45 -7 _+11 _ -13
G—1—F—>K—D—0—B

3afer, fased A T8 SR B
Answer: (A)
@ty g,
+8 +8
1 ——
+20 +28 +36 — +44 +52
35 63 129 ] 143 195
—— —
+ +
3fct: faheT A TS ST B
Answer: (A)

ot Fdze & @ & o Hw AfeT TS Bl

Uree & QRigd dfST R@ gl a1igu 3R Fad

SMuTaeTd AT 7 3R od P18 3/ faey T 781 8,

Tt urrEe &1 Y AfST HRAT TRT TUT Urede Bl

%@%Wﬁmﬁ%ﬁﬁw
|

Answer: (C)

Td 3FHH: 4, 10, 20, 34, 52, 74, 100, 130
Ugd SR 8 6, 10, 14, 18, 22, 26, 30

TR AT 4,4,4,4,4,4

qud BA=52+18+4=74
T, gt SR fawey C 7

Answer: (C)

DY:

1.3, TR 3R 79 &1 $d Mg 278 @8 b
e g1)

AT 78T B adqH Mg x &
W,Wﬁaﬁﬁﬁm= 2x

3R AT B TITH MR = 2+2x
AT,

X+2X+242% = 27

=5x+2 =27

=5x=25

=x=5

TR, IR &Y 311G = 2x5 = 10 ¥

HY:

2.3, e Y 91 8| (T8 3fhd Uaid gl §)

3T, HYT 1 3fbd T g
3fg, fihed c T SR B

Agswer:(B)

| H:

g 3APHA UY BT IR el ¢ bl § P B3 i
W@ g T8t 8

II9:

gg i A UY BT IR TSl T bl & TP Big
T TSR ASG 81 5l

| 3R 11 SFT 9
mﬁwaﬁm:ﬁwaﬁm:ﬁaﬁm

=X
B9 S § & 3rof &t 31y, fam 3iR g &t e
3 P R 2|

136.

137.

138.

139.

140.
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3d, 2x + x + x = 32

Y, x = 8

T &I 3R] = 8 aY

ZYfoTT, Tl HYF Th ITY IR B |
zafey, fasey B I8 SR 8l

Answer: (B)

Ieg & Tt 31eR JUIHTAT YR & AR I% fausid
31&R gRT Ui fobU Sirdl &

3R R Fafafed e § orafa g B

M O B I L E

Y LNV OR

WY ¥U I, HIG3d &I YLNVOR & =0 | wifsa fear
ST

Answer: (D)

TET Uy 3Mpfd SR 3Mpfa H TEt adid F IfafiiRd &
ST 3 R awifar T @

=T fded D I8 SR Bl

Answer: (A)

LetterPSYCHOANL

Code @ | # % * < | >

$
CANALsﬁ$&*&< @ %Wﬁaﬂﬁ',ﬁﬁv‘mm|
TR, fddhed A 981 SR &

Answer: (B)

K/

0
U 7T Uy 3Pl B T & wIE, T8 WY © b fApe
3HipaT B faU T Uy i & GRT B
Answer: (C)

mﬁm@ww%a‘m@ﬁmmw

O 0

O 0
iy, faded ¢ I8l S| B
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Direction

141.
142.
143.
144.

145.

146.

147.

148.

Fb:-

(141-143): TIRMUH &I b [9dd &
Ud® Yeg H TP 31eR B Sl quiHTaT & 3T 31eR
A & ST 21 ISTER0 & AT A Y B & Sl ol 3,
H &Y | ¥ gaaT ol § 3R 3 +ff 3T YR saar o

gl

Eﬂﬁﬁ?ﬁmﬁmﬁwaﬁwm G ¥ g&al ordr
g 3R R 39 g= ¥ 1 ST Sl 81 36’0 & g
54T = 54+54+1=109 ¥ oo e g1 T Treamsit
H1 39 Uy B afRd a1 Siar 81 3fd: 3T T8 ge
T IR fAgad ghm:

%Yc- bvgr ktwq 64 96 18 36 11 rexv cgby asdf
IO sfyw 193 bvgr ktwq 64 18 36 11 cgby asdf
RO luxr 129 sfyw 193 bvgr 18 36 11 cgby asdf
TROUTII: dhez 73 luxr 129 sfyw 193 bvgr 18 11 asdf
TROTIV: cwhs 37 dhcz 73 luxr 129 sfyw 193 11 asdf
RN V: bteg 23 cwhs 37 dhcz 73 luxr 129 sfyw 193
Answer: (A)

Answer: (D)

Answer: (D)

Answer: (A)

TohTHe STHIRGT, T fdd o g¥R Afad B ydes Iudh
& gRI ol 81 CawIEs, U Yhmd dHR! §, 39 fad
T YA H § T8 g off JohdT g

31, ad ey | TET R

Answer: (C)

quif & R W BT TGNT fbar T § Wigl A=1, B=2,
c=3 3R faudla =g A= &1 o yanT fear m R
et z=1, Y=2, X=3 3R S UHR 3mY 1f|

AZ, BY, CX 311G IX% g §1d & | T I T SIRIad
e o TanT fasan S g |

BY-DW

HS-JQ

Answer: (A)

HU | :

D &1 g 40 fheiam &

C BT IS (40 + 10) = 50 kg §

B &1 9 (50 + 20) = 70 kg §

A 1S (70-18) = 52kg &
Waﬁwm40+50+70+52 —53%1;”1:[%

39 UBR, aﬁumﬁqwu%rmwéﬁ%%nmm%
3R B || 3T T Uy 7 IR 37 & forg v el 81
Answer: (B)

Uy H €1 TS APId BT AFYID T B b I1G, T§
Wy R & & 7S Uy 3 SR Smepfa (B) A siafiiRd
21 e - & TS el 3 SR farg <

Answer: (D)

o B 8 TR SR B T 3 % T, 0 g
g fr & R uy snpfa IWR eepfa (D) # siafifRd B
gg = foar ma e ma @

149.

150.

151.

152.

153.

TEST ID - USI - 887702527

Answer: (C)
Uy 3P &1 vfafed 37 UHR 81T -

o] R

= =)

Mirror
Answer: (A)
+6 +6 +6 +6
' . ¥ v
AZ GT MN SH ¥YB
[ f_ 4t ¢
-6 -6 -6 ]
Answer: (B)

ggjﬁ&n?ﬁrﬁéﬁﬁaﬁﬁ,&ﬂ?ﬁf(ﬁ)maﬁw
|

31q: faepe B T B

Answer: (C)

;—L\ Eﬂr\ ]:E[{ MY SO RE
2 x X X

‘r’lh \l‘iﬂl lﬁ YM OS ER

I
NBE WT RF 1|1'3: é)'lr Esl
Answer: (A)

:
G ()
frsep;

. B U AR | (U8 HYUF BT 3IERU Bl 7)

II. DI AR Ve Y B! (T8 HYUA BT SRV BT 6)
|||.ﬁ3%)m&‘>‘€w:l%"f%l (T8 YT BT STIR g
HRATR) |

Fad 5B | 3R 11 STIRU IR &
3Tg, fadhed A g SR 2

Answer (154-156):

1) B8 Afdd M 3R G & S 99 @

2) R foww Te areft dfoid R 781 sfesd Tt dfca )
I

3) H, R ¥ 3o TR war gl

4)H 3R G & S & F 31fie AT 3 &
CASE 1

FLOOR PERSONS

8 M

7 R

6 H

5

4

3

2
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K | | 319 <) TS w1l & SRR, B Frafif@d stidst ured gim
CASE 2 == 6 C 6 |

FLOOR PERSONS

8 G
; g $
5 R .

4 H p

3 A 6 B

2 A 3R B & &g &1 gt 0 Hiex B

1 M

5) P, Q ¥ qXd SR @1 & NEZICH

6) O, R ¥ A AT &I

154.

155.

156.

157.

158.

159.

160.

Fb:-

@el, B 2 B TH B 3T T 3R &H HF 1 WIRT
G

7)Q, G & 3l FWR Tal IgdT Tl

FLOOR PERSONS
8 M

NwibhlUnio |

O|o|0|Z|z|T|=m

1
Answer: (D)

gy, fde D T S R

Answer: (C)

gy, fdser C I I B

Answer: (D)

$9ferg, fawed D WEl SR B

Answer: (B)

FHad T IR =g yurelt g gHES § wifa waftd #R
Todl g1 39 UHR Had Hy || 3fdf-iiea 71
gy, fdeu B T ST B

Answer: (B)

HYF F AER, 3T FE Aed HRA § o Tdem 3
ol BT v B

3 UBR, Had fayrun || Rk Bl

Answer: (D)

ST b By B H Pe1 T © 6 5 R @, g <=M
g fp o9 ufbon & gry w=lt Aew & 91y 31 uRkafdd
A T U8 SIS P FHE T 39 UBR, FTpY |
TR Rl B

Il 3FTERUT TEf PRl § Fifb HUT A 3R Ul &
ey guFarst & T8l gufar 8 9 MR ¥9 ¥ I8
J19 ¢ & b A7 ) uferdt § Wien =R
Answer: (B)

H%%wu%’gﬁ Scand
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